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Getting the most from this book





This textbook provides an introduction to economics. It has been tailored explicitly to cover the content of the Edexcel specification for A level in Economics A. The specification is divided into four themes corresponding to the Edexcel specification.


The text provides the foundation for studying Edexcel Economics, but you will no doubt wish to keep up to date by referring to additional topical sources of information about economic events. This can be done by reading the serious newspapers, visiting key sites on the internet, and reading such magazines as Economic Review.




Special features




[image: ]

















Contents





Introduction


Theme 1 Introduction to markets and market failure


Chapter 1 The nature of economics


Chapter 2 The nature of demand


Chapter 3 The nature of supply


Chapter 4 How markets work: price determination and the price mechanism


Chapter 5 How markets work: the price mechanism in action


Chapter 6 Market failure and externalities


Chapter 7 Market failure: public goods and information gaps


Chapter 8 Government intervention and government failure


Theme 1 key terms


Theme 2 The UK economy — performance and policies


Chapter 9 Measures of economic performance: economic growth


Chapter 10 Measures of economic performance: inflation, unemployment and the balance of payments


Chapter 11 Aggregate demand


Chapter 12 Aggregate supply


Chapter 13 National income and macroeconomic equilibrium


Chapter 14 Economic growth


Chapter 15 Macroeconomic policy objectives


Chapter 16 Macroeconomic policies


Theme 2 key terms


Theme 3 Business behaviour and the labour market


Chapter 17 Business growth


Chapter 18 Revenues, costs, profits and objectives


Chapter 19 Market structure: perfect competition and monopoly


Chapter 20 Market structure: monopolistic competition and oligopoly


Chapter 21 Pricing strategies and contestable markets


Chapter 22 The labour market


Chapter 23 Government intervention to promote competition


Theme 3 key terms


Theme 4 A global perspective


Chapter 24 Globalisation and trade


Chapter 25 Trading blocs and restrictions on trade


Chapter 26 The balance of payments and exchange rates


Chapter 27 Poverty and inequality in developed and developing countries


Chapter 28 Emerging and developing economies


Chapter 29 Strategies influencing growth and development


Chapter 30 The financial sector


Chapter 31 The role of the central bank


Chapter 32 The role of the state in the macroeconomy


Theme 4 key terms


Synoptic practice paper: Microeconomics and macroeconomics


Acknowledgements


Index












Introduction







Prior learning, knowledge and progression


Most students who choose to study A level Economics are meeting the subject for the first time, and no prior learning or knowledge of economics is required. The study of economics complements a range of other A level subjects, such as history, geography, business, mathematics and the sciences, and the way of thinking that you will develop as you study economics will help in interpreting issues that you will meet in many of these subjects. Studying economics can provide important employability skills and is a good preparation for those wishing to progress to higher education. If you intend to study economics at university, you may wish to consider studying mathematics as one of your other A level subjects.


Find out more about the Edexcel Economics offering, or other related qualifications, at https://qualifications.pearson.com/en/qualifications/edexcel-a-levels.html.







Assessment objectives


In common with other economics specifications, Edexcel Economics A entails four assessment objectives. Candidates will thus be expected to:




	
•  demonstrate knowledge of terms/concepts and theories/models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues


	
•  apply knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues


	
•  analyse issues within economics, showing an understanding of their impact on economic agents


	
•  evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues










Assessment breakdown


The A level in Economics A will be assessed by three examinations. The first two deal respectively with ‘markets and business behaviour’ and the ‘national and global economy’. The third is a synoptic paper (‘microeconomics and macroeconomics’), in which you will be required to apply your knowledge and understanding, make connections and transfer higher-order skills across all four themes. Each will be a written paper lasting 2 hours. Further details are provided in the specification on the Edexcel website.








Economics in this book


The study of economics requires a familiarity with recent economic events in the UK and elsewhere, and candidates will be expected to show familiarity with ‘recent historical data’ — broadly defined as covering the last 7 to 10 years. The following websites will help you to keep up to date with recent trends and events:




	
•  Recent and historical data about the UK economy can be found at the website of the Office for National Statistics (ONS) at: www.ons.gov.uk



	
•  Also helpful is the site of HM Treasury at: www.hm-treasury.gov.uk



	
•  The Bank of England site is well worth a visit, especially the Inflation Report and the Minutes of the Monetary Policy Committee: www.bankofengland.co.uk



	
•  The Institute for Fiscal Studies offers an independent view of a range of economic topics: www.ifs.org.uk






For information about other countries, visit the following:




	
•  www.oecd.org



	
•  http://ec.europa.eu/eurostat



	
•  www.worldbank.org



	
•  www.undp.org






Finally, for answers to the test yourself questions, exercises, economics in the real world and practice questions featured in this book, please visit www.hoddereducation.co.uk/pearson-edexcel-economics-alevel and click ‘Download answers’.







How to study economics


There are two crucial aspects of studying economics. The first stage is to study the theory, which helps us to explain economic behaviour. However, in studying A level Economics it is equally important to be able to apply the theories and concepts that you meet, and to see just how these relate to the real world.


If you are to become competent at this, it is vital that you get plenty of practice. In part, this means working through the exercises and economics in the real world features that you will find in this text. However, it also means thinking about how economics helps us to explain news items and data that appear in the newspapers and on the television. Make sure that you practise as much as you can.


In economics, it is also important to be able to produce examples of economic phenomena. In reading this text, you will find some examples that help to illustrate ideas and concepts. Do not rely solely on the examples provided here, but look around the world to find your own examples, and keep a note of these ready for use in essays and exams. This will help to convince the examiners that you have understood economics. It will also help you to understand the theories.







Enjoy economics


Most important of all, I hope you will enjoy your study of economics. I have always been fascinated by the subject, and hope that you will capture something of the excitement and challenge of learning about how markets and the economy operate. I also wish you every success with your studies.
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THEME 1 INTRODUCTION TO MARKETS AND MARKET FAILURE
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1 The nature of economics



1.1.1, 1.1.2, 1.1.3, 1.1.4, 1.1.5, 1.1.6





Welcome to economics. Many of you opening this book will be meeting economics for the first time, and you will want to know what is in store for you as you set out to study the subject. This opening chapter sets the scene by introducing you to some key ideas and identifying the scope of economic analysis. As you learn more of the subject, you will find that economics is a way of thinking that broadens your perspective on the world around you.






[image: ]


In this chapter


This chapter will introduce you to:




	
•  the nature and scope of economic analysis


	
•  the role of models and assumptions in economics


	
•  positive and normative statements


	
•  the importance of scarcity and choice


	
•  the concept of opportunity cost


	
•  the notion of factors of production


	
•  the distinction between renewable and non-renewable resources and the idea of sustainability


	
•  the production possibility frontier


	
•  the concept of the division of labour


	
•  how specialisation can improve productivity


	
•  the role of markets and what is meant by a mixed economy


	
•  alternative ways of coordinating the allocation of resources in society


	
•  the distinction between microeconomics and macroeconomics
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What is economics?


As its name suggests, economics deals with all aspects of economic behaviour. It explores the way that individuals, businesses and governments take economic decisions. For example, it highlights the factors that influence the decisions made by households in choosing what to consume, and the decisions made by firms about what goods and services to produce. It also examines the decisions made by governments about taxation and expenditure.


All these decisions interact with each other — and human behaviour is not always easy to understand — so economics faces a substantial challenge in trying to deal with the complexity of the real world.


If economists are to cope with this complexity, it is essential to simplify reality in some way; otherwise the task would be overwhelming. Economists therefore work with models. These are simplified versions of reality that are more manageable for analysis, allowing economists to focus on some key aspects of the world.
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Key term


model a simplified representation of reality used to provide insight into economic decisions and events
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Often this works by allowing them to focus on one thing at a time. A model almost always begins with assumptions that help economists to simplify their questions. These assumptions can then be gradually relaxed so that the effect of each one of them can be observed. In this way, economists can gradually move towards a more complicated version of reality.


Chapter 2 considers the demand for a good, and the factors that affect how much of a good is demanded by consumers. Trying to analyse all the possible influences on these decisions would be difficult, so it is common to start by exploring how the price of a good affects the quantity demanded, under the assumption that all other influences stay the same. This is a common assumption in economics, which is sometimes expressed by the Latin phrase ceteris paribus, meaning ‘other things being equal’. Given the complexity of the real world, it is often helpful to focus on one thing at a time.
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Economics explores the way that individuals, businesses and governments take economic decisions








To evaluate a model, it is not necessary that it be totally realistic. The model’s desired objective may be to help in predicting future behaviour, or in testing empirical evidence collected from the real world. If a model provides insights into how individuals take decisions, or helps to explain economic events, then it has some value, even if it seems remote from reality.


However, it is always important to examine the assumptions that are made, and to ask what happens if these assumptions do not hold.
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Test yourself 1.1


What phrase is used by economists when assuming that some variables are to be held constant?
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Economics as a social science


A question that is often raised in relation to economics as a subject is whether it can be regarded as a ‘science’, given that it deals with decisions taken by human beings. Economics attempts to study economic aspects of society using a scientific approach, and as such can be seen as a social science.
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Key terms


ceteris paribus a Latin phrase meaning ‘other things being equal’; it is used in economics when we focus on changes in one variable while holding other influences constant


social science a subject involving the scientific study of human beings
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In many physical sciences, investigation can proceed by testing hypotheses in the laboratory through carrying out experiments. Experimental economics is a rapidly expanding area in the subject, but although this allows economists to improve their understanding of individual behaviour, there are still many areas of economics where it is not possible to rely on experiments to advance knowledge.


Economists can stage experiments in which they ask a sample of individuals how they would act in various situations — for example, what they would pay for a good or service. This can provide insights into economic behaviour. However, there are situations in which it is simply not possible to set up an experiment. A government cannot decide to double the rate of income tax to find out what would happen. A firm would be wary of making a substantial increase in the price of its product just to see what happens.


Astrophysics faces similar challenges, as it cannot move stars and planets around to see what happens! Instead it relies on observations to develop its theories. Economics also relies on observation and assumptions to interpret the way in which economic decisions are taken. It then attempts to apply logic and scientific reasoning to build on assumptions in order to explain behaviour.







Positive and normative economic statements


Economics aims to look at the causes and consequences of choices in an objective way. However, some of its subject matter requires careful attention if we are to remain objective. To achieve this, it is important to be clear about the difference between positive and normative statements.
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Key terms


positive statement a statement about what is (i.e. about facts)


normative statement a statement that involves a value judgement about what ought to be


value judgement a statement based on your opinion or beliefs, rather than on facts
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In short, a positive statement is about facts and in principle is testable. A normative statement is about what ought to be. Another way of looking at this is that a statement becomes normative when it involves an opinion or value judgement.


Suppose the government is considering raising the tax on cigarettes. It may legitimately consult economists to discover what effect a higher tobacco tax will have on the consumption of cigarettes and on government revenues. This would be a positive investigation, in that the economists are being asked to use economic analysis to forecast what will happen when the tax is increased.


A very different situation will arise if the government asks whether it should raise the tax on cigarettes. This calls for an opinion to be expressed (a value judgement). For example, a response might be to say that the tax on cigarettes ought not to be raised because it discriminates against smokers. This would be a normative statement. There are some words that indicate normative statements, such as ‘should’ or ‘ought to’ — watch for these.


Most of this book is about positive economics. However, you should be aware that positive analysis is often called upon to inform normative judgements. If the aim of a policy is to stop people from smoking (which reflects a normative judgement about what ought to happen), then economic analysis may be used to highlight the strengths and weaknesses of those alternatives in a purely positive fashion.


Critics of economics often joke that economists always disagree with one another: for example, it has been said that if you put five economists in a room together, they will come up with at least six conflicting opinions. However, although economists may arrive at different value judgements, and have differences when it comes to normative issues, there is much greater agreement when it comes to positive analysis. Nonetheless, value judgements do influence economic decision making and policy because different people — and political parties — may have different views about what is desirable for society, even if they agree on how policies may work.
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Study tip


Notice that the word ‘positive’ here is not used in the sense of being opposite to ‘negative’. A positive statement that is found to be false is still a positive economic statement, as it is a statement about facts.
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Synoptic link


The effect of a tax on cigarettes is examined in Chapter 5.
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Test yourself 1.2


Is the following statement a normative or a positive statement? ‘The government ought to raise unemployment benefits.’
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The economic problem


For any society in the world, the fundamental economic problem faced is that of scarcity. You might think that this is obvious for some societies in the developing world, where poverty and hunger are rife. But it is also true for relatively prosperous economies such as those of Switzerland, the USA and the UK.


It is true in the sense that all societies have finite resources, but people have unlimited wants. A big claim? Not really. There is no country in the world in which all wants can be met, and this is clearly true at the global level.


There is a difference between wants and needs. Everyone needs to breathe and to eat, so air and food are necessary for human life. However, there are also things that people would like to consume, and these are known as wants.
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Test yourself 1.3


Thinking of yourself, give an example of a ‘want’ and of a ‘need’.
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There are some goods that may be regarded as free goods. An example might be the earth’s atmosphere, which would not normally be regarded as scarce. Goods that are scarce are known as economic goods. Most goods fall into this category.


Talking about scarcity in this sense is not the same as talking about poverty. Poverty might be seen as an extreme form of scarcity, in which individuals lack the basic necessities of life; whereas even relatively prosperous people face scarcity, because resources are limited.
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Synoptic link


The meaning and causes of poverty are examined in Chapter 27, where you will see that although absolute poverty may only exist in developing countries, relative poverty also exists in advanced countries such as the UK.
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Scarcity and choice


The key issue that arises from the existence of scarcity is that it forces people to make choices. Each individual must choose which goods and services to consume. In other words, everyone needs to prioritise the consumption of whatever commodities they need or would like to have, as they cannot satisfy all their wants. Similarly, at the national level, governments have to make choices between alternative uses of resources.
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Test yourself 1.4


Give examples of the ways in which the government spends its funds.


It is this need to choose that underlies the subject matter of economics. Economic analysis is all about analysing those choices made by individual people, firms and governments.
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Opportunity cost


This raises one of the most important concepts in all of economic analysis — the notion of opportunity cost. When an individual chooses to consume one good, they do so at the cost of the item that would have been next in their list of priorities. For example, suppose you are on a strict diet, and at the end of the day you can ‘afford’ either one chocolate or a piece of cheese. If you choose the cheese, the opportunity cost of the cheese is the chocolate that you could have had instead.
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Key terms


scarcity a situation that arises when people have unlimited wants in the face of limited resources


free goods goods such as the earth’s atmosphere that are not normally regarded as being scarce


economic goods goods that are scarce


poverty a situation in which individuals lack the basic necessities of life or have low incomes relative to their fellow citizens


opportunity cost in decision making, the value of the next-best alternative forgone
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This important notion can be applied in many different contexts, because whenever you make a decision you reject an alternative in favour of your chosen option. You have chosen to read this book — when instead you could be watching television or meeting friends.


The notion of opportunity cost is related to an important tool in economics known as marginal analysis. This is based on the idea that people take decisions by considering small changes that could be made. For example, in choosing whether to read this book, you may consider if the extra (marginal) benefit you will receive from doing so will exceed the additional benefit you would receive from watching television. Firms may also take decisions in this way, perhaps by checking whether the cost of producing and selling an additional unit of output will exceed the extra (marginal) return they receive from selling it. This approach will become familiar to you as you continue to study economics.
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Key term


marginal analysis an approach to economic decision making based on considering the additional (marginal) benefits and costs of a change in behaviour
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Exercise 1.1


Asif has just started his A level courses, and has chosen to take Economics, Mathematics and French. Although he was certain about the first two, it was a close call between French and English. What is Asif’s opportunity cost of choosing French?
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As you move further into studying economics, you will encounter this notion of opportunity cost again and again. A household choosing to buy a new car faces an opportunity cost in having to forgo a holiday. A farmer choosing to grow onions incurs an opportunity cost in not being able to grow potatoes. The need to balance the relative merits of alternative choices is challenging, but crucial. Economic thinking helps to explain how such choices are made, and how they could be improved.
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Study tip


Opportunity cost is a key concept in economics, and is important in a variety of contexts. Similarly, marginal analysis is a key part of economic thinking, so make sure that you understand these fully from the outset.
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Test yourself 1.5


Suppose your school or college wants to build a new sports hall. Identify possible elements of the opportunity cost of such a project.
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Economic agents


In analysing the process by which choices are made, it is important to be aware of the various economic agents that are responsible for making decisions. In economic analysis, there are three key groups of decision makers: consumers, producers and government.




	
•  Consumers (individuals and households) make choices about their expenditure. In this role, they are consumers who demand goods and services. In order to be able to buy goods, consumers need income, so they also take decisions about the supply of their labour, which is discussed in the next section.


	
•  Producers (firms or businesses) exist in order to produce output of goods or services. Producers also make choices, particularly about which goods or services to produce, and the techniques of production to be used. The prices at which they can sell are also important in economic analysis. Firms also have a dual role, as they need to purchase machines and raw materials if they are to produce goods and services.


	
•  Government fulfils several roles in society. It undertakes expenditure, and influences the economy through its taxation and regulation of markets.





Opportunity cost is crucial for each of these economic agents, because they each face constraints on their choices. As soon as they choose one course of action, they forgo the possibility of taking an alternative decision.








Factors of production


People in a society play two quite different roles. On the one hand, they are the consumers, the ultimate beneficiaries of the process of production. On the other hand, they are a key part of the production process in that they are instrumental in producing goods and services by supplying labour. The production process requires not only labour but other resources as well. These productive resources are known as the factors of production. The main types are outlined in Table 1.1.
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Key term


factors of production resources used in the production process; inputs into production, particularly including labour, capital, land and enterprise
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Table 1.1 The factors of production






	Labour

	The most obvious human resource, labour is a key input into production. There are many different types of labour, encompassing different skill levels and working in different ways, from unskilled labourers to web designers or brain surgeons.






	Capital

	The term ‘capital’ covers inputs such as plant and machinery, transport equipment and factory buildings.






	Enterprise

	Enterprise is another human resource. An entrepreneur is someone who organises production and identifies projects to be undertaken, bearing the risk of the activity. This is an important role in the modern economy, where firms need to be alert for market opportunities.

Management is also sometimes classified as a human resource, although it might be seen as a particular form of labour.









	Land

	Land covers the inputs provided by nature — both the land itself and the natural resources that nature provides in the form of raw materials.







The way in which these inputs are combined in order to produce output is another key part of the allocation of resources. Firms need to take decisions about the mix of inputs used in order to produce their output. Such decisions are required no matter what form of economic activity a firm is engaged in.




The rewards to factors of production


The factors of production need to be rewarded in return for the services that they provide, as shown in Table 1.2.


Table 1.2 Rewards to the factors of production






	Labour

	Households supply their labour in return for wages and salaries. The wage is therefore the reward for the labour services that they supply, for which they must give up their leisure time.






	Capital

	Interest is the return on the use of capital services. It is the return that the firm gains from using the capital goods in the production process. In doing this, the firm forgoes the interest that it could have gained from investing in a financial asset.






	Enterprise

	Profit is the reward for enterprise. By recognising income-earning opportunities for the firm, the entrepreneur is able to make profit for the business.






	Land

	It is the rental that constitutes the reward for the use of land in production.
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Synoptic link


The decisions taken by producers are discussed later, in particular in Chapter 18, but first you need to understand more about the behaviour of households and firms.
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Test yourself 1.6


How do we refer to resources such as labour, land, capital and enterprise when they are used in production?
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Factors of production — labour (workers), capital (buildings) and land













Renewable and non-renewable resources


An important distinction is between renewable resources such as forests, and non-renewable resources such as oil or coal.
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Key terms


renewable resources natural resources that can be replenished, such as forests that can be replanted, or solar energy that does not get used up


non-renewable resources natural resources that once used cannot be replenished, such as coal or oil
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In the case of renewable resources, there have been many debates in recent years about the dangers of depleting such resources at too rapid a rate to allow replacement. One example of this has been the stocks of some fish such as cod, where it has been argued that overfishing may lead to the extinction of the species. Similar arguments have been applied to other resources such as the rainforests. This has highlighted the importance of sustainable development, which has been defined as ‘development which meets the needs of the present without compromising the ability of future generations to meet their own needs’ (Brundtland Commission, 1987). Applying this to the case of cod fishing, for example, sustainable fishing would be seen in terms of not catching so many cod that the overall population becomes unsustainable.


For non-renewable resources, reserves are finite — by definition — so concern has arisen over their possible exhaustion. Attention has tended to focus on oil, which is much in demand, especially given rapidly rising car ownership. This has led to a search for renewable sources of energy (and the development of electric cars), which would also contribute to sustainability. One economic issue here is whether the prices of resources such as oil will rise as reserves are depleted. This could then have the effect of giving incentives to firms to develop alternative, ‘green’ sources of energy. It could also mean that some reserves of oil that are currently uneconomic may become viable. This is one example of how prices can be seen to guide resource allocation.
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Exercise 1.2


Classify each of the following as human, natural (renewable or non-renewable) or produced resources:




	
a  timber


	
b  the services of a window cleaner


	
c  a combine harvester


	
d  a computer programmer who sets up a company to market their software


	
e  a computer
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Test yourself 1.7


Name one example of a renewable energy resource, and one example of a non-renewable energy source.
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The three key economic questions


By now you should be getting some idea of the subject matter of economics. The American economist Paul Samuelson (who won the Nobel Prize for Economic Sciences in 1970) identified three key questions that economics sets out to investigate:




	
1  What? What goods and services should be produced in a society from its scarce resources? In other words, how should resources be allocated among producing smartphones, potatoes, banking services and so on?


	
2  How? How should the productive resources of the economy be used to produce these various goods and services?


	
3  For whom? Having produced a range of goods and services, how should these be allocated among the population for consumption?
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Test yourself 1.8


What were the three key questions that Samuelson identified for economics?
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Exercise 1.3


With which of Samuelson’s three questions (what, how, for whom) would you associate the following?




	
a  A firm chooses to switch from producing laptop computers in order to increase its output of tablet computers.


	
b  The government reduces the highest rate of income tax.


	
c  Faced with increased labour costs, a firm introduces labour-saving machinery.


	
d  There is an increase in social security benefits.


	
e  The owner of a fish-and-chip shop decides to close down and take a job in a local factory.
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Summary: key economic ideas




	
•  Positive statements are about what is, whereas normative statements are about what ought to be.


	
•  The fundamental problem faced by any society is scarcity, because resources are finite but wants are unlimited. As a result, choices need to be made.


	
•  Each choice has an opportunity cost — the value of the next-best alternative forgone.


	
•  The amount of output produced in a period depends on the inputs of factors of production.


	
•  The rate at which renewable resources are used needs to be seen in the light of the notion of sustainability.


	
•  Economics deals with the questions of what should be produced, how it should be produced, and for whom.
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The production possibility frontier


Economists rely heavily on diagrams to help in their analysis. In exploring the notion of opportunity cost, a helpful diagram is the production possibility frontier (PPF). This shows the maximum combinations of goods that can be produced with a given set of resources.
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Key term


production possibility frontier (PPF) a curve showing the maximum combinations of goods or services that can be produced in a given period with available resources
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First consider a simple example. In an earlier exercise, Asif was studying for his A levels. Suppose now that he has got behind with his homework. He has limited time available, and has five economics questions to answer and five maths exercises. An economics question takes the same time to answer as a maths exercise.


What are the options? Suppose he knows that in the time available he can tackle either all of the maths and none of the economics, or all of the economics and none of the maths. Alternatively, he can try to keep both teachers happy by doing some of each.
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Quantitative skills 1.1


Drawing and interpreting graphs: the production possibility frontier


An important quantitative skill is to be able to draw and interpret graphs. The diagram showing the PPF is a good example to introduce this skill.


When you look at Figure 1.1, you may be surprised to see that the ‘curve’ is actually a straight line. What is important to the economist is that we can use diagrams to show an economic relationship. Sometimes, this may be a line, but sometimes we might expect a curve. In Figure 1.1, the ‘curve’ happens to be a straight line.


Figure 1.1 shows the options that Asif faces. He can devote all of his efforts to maths, and leave the economics for another day. He will then be at point A in the figure, choosing to do 5 maths exercises (which you read off as the value on the vertical axis), but no economics exercises (reading zero on the horizontal axis).


Alternatively, he can do all the economics exercises and no maths, and be at point B. The line joining these two extreme points shows the intermediate possibilities. For example, at C he does 2 economics exercises and 3 maths problems — again you read off the values from the two axes.
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Figure 1.1 The production possibility frontier








The line shows the maximum combinations that Asif can tackle — which is why it is called a ‘frontier’. There is no way he can manage to be beyond the frontier (for example, at point D), as to do 3 maths exercises and 4 economics ones would need more time than he has available. However, he could end up inside the frontier, at a point such as E. This could happen if he gives up, and squanders his time by watching television; that would be an inefficient use of his resources — at least in terms of tackling his homework.


As Asif moves down the line from left to right, he is spending more time on economics and less on maths. The opportunity cost of tackling an additional economics question is an additional maths exercise forgone. One way of expressing this is that Asif faces a trade-off between the time spent on economics and on maths.
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A trade-off


In the example discussed in the Quantitative skills box, Asif faces a trade-off between the time spent on economics and on maths. In other words, Asif can only spend more time on economics by spending less time on maths. He must trade off one against the other. You will come across many instances of this notion as your study of economics progresses.
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Key term


trade-off a situation in which the choice of one alternative requires the sacrifice of another
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Figure 1.2 shows how the PPF provides information about opportunity cost. Suppose we have a farmer with 10 hectares of land who is choosing between growing potatoes and onions. The PPF shows the combinations of the two crops that could be produced. For example, if the farmer produces 300 tonnes of onions on part of the land, then 180 tonnes of potatoes could be produced from the remaining land. In order to increase production of potatoes by 70 tonnes from 180 to 250, 50 tonnes of onions must be given up. Thus, the opportunity cost of 70 extra tonnes of potatoes is seen to be 50 tonnes of onions.







Why might the PPF be curved?


Notice that the PPF in Figure 1.2 is drawn as a curve instead of a straight line. This is because the farmer’s land varies in different plots, with some plots being ideal for potatoes but others being better for onions. The farmer can choose a balanced approach, using each plot of land for the use to which it is suited. However, if he were to choose to produce only onions (or only potatoes), overall the land would be less productive. In other words, the more onions that are produced, the higher their opportunity cost in terms of potatoes (and vice versa), reflected in the way that the PPF gets steeper moving from left to right.
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Figure 1.2 Opportunity cost and the PPF
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Study tip


Diagrams are an important way of explaining economic concepts, and being able to integrate economic diagrams into your analysis is a good way of improving your understanding — and showing examiners that you understand!
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Test yourself 1.9


If a firm buys a computer to use in its production process, is this an example of a consumer or a capital good?
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Consumption and investment


To move from thinking about an individual to thinking about an economy as a whole, it is first necessary to simplify reality. Assume an economy that produces just two types of good: capital goods and consumer goods. Consumer goods are for present use, whereas capital goods are to be used to increase the future capacity of the economy — in other words, for investment.
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Key terms


capital goods goods used as part of the production process, such as machinery or factory buildings


consumer goods goods produced for present use (consumption)
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Figure 1.3 illustrates society’s options in a particular period. Given the resources available, society can produce any combination of capital and consumer goods along the PPF line. Thus, point A represents one possible combination of outputs, in which the economy produces C1 consumer goods and K1 capital goods.
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Figure 1.3 Capital and consumer goods








As with the simpler example, if society were to move to the right along the PPF, it would produce more consumer goods — but at the expense of capital goods. Thus, it can be seen that the opportunity cost of producing consumer goods is forgone opportunities to produce capital goods. However, as the economy moves towards complete specialisation in one of the types of good, factors are no longer being best used, and the opportunity cost changes. For example, if nearly all of the workers are engaged in producing consumer goods, it becomes more difficult to produce still more of these, whereas those workers producing machinery find they have too few resources with which to work. In other words, the more consumer goods are being produced, the higher is their opportunity cost.


It is now possible to interpret points B and C. Point B is unobtainable given present resources, so the economy cannot produce that combination of goods. This applies to any point outside the PPF. On the other hand, at point C society is not using its resources efficiently. In this position there is unemployment of some resources in the economy. By making better use of the resources available, the economy can move towards the frontier, reducing unemployment in the process. However, at any point on the frontier, production is productively efficient in the sense that all resources are being fully utilised.
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Test yourself 1.10


In Figure 1.3, which labelled points represent productively efficient positions?
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Economic growth or decline


Figure 1.3 focuses on a single period. However, if the economy is producing capital goods, then in the following period its capacity to produce should increase, as it will have more resources available for production. How can this be shown on the diagram? An expansion in the available inputs suggests that in the next period the economy should be able to produce more of both goods. This is shown in Figure 1.4.
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Figure 1.4 Economic growth








In the initial period the production possibility frontier is at PPF0. However, in the following period the increased availability of capital resources enables greater production, and the frontier moves to PPF1. This is a process of potential economic growth, an expansion of the economy’s productive capacity through the increased availability of inputs. If the economy were to go into decline, such that less output could be produced, the frontier would shift inwards.
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Key term


potential economic growth an expansion in the productive capacity of the economy
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Notice that the decision to produce more capital goods today means that fewer consumer goods will be produced today to provide more in the future.


An increase in the availability of inputs is not the only way in which the PPF could shift outwards. An increase in the way in which the inputs are used would also allow the PPF to shift out. Such a change would be known as an increase in productivity. This could happen through technical advance, for example.


There could also be a shift inwards of the PPF if there is a reduction in the availability of inputs, or a fall in the productivity of inputs. For example, returning to the farmer’s production of onions and potatoes, if part of the land is flooded and becomes unusable, then the farmer would have less land to work. If the land is over-farmed, it could become less productive. In either case, the PPF would shift inwards.
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Test yourself 1.11


Suppose that a firm devises a new and more cost-effective production method. How would this affect the PPF?
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Total output in an economy


Remember that the PPF is a model: a much simplified version of reality. In a real economy, many different goods and services are produced by a wide range of different factors of production — but it is not possible to draw diagrams to show all of them.


The total output of an economy like the UK is measured by its gross domestic product (GDP).






[image: ]


Key term


gross domestic product (GDP) a measure of the economic activity carried out in an economy over a period
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By calculating the average level of GDP per person in a country, it is possible to derive a measure of the average amount of resources per person — or average income per head.
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Exercise 1.4


Megan has been cast away on a desert island, and has to survive by spending her time either fishing or climbing trees to get coconuts. The PPF in Figure 1.5 shows the maximum combinations of fish and coconuts that she can gather during a day. Which of the points A to E represents each of the following?
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Figure 1.5 Fish and coconuts










	
a  a situation where Megan spends all her time fishing


	
b  an unobtainable position


	
c  a day when Megan goes for a balanced diet — a mixture of coconuts and fish


	
d  a day when Megan does not fancy fish, and spends all day collecting coconuts


	
e  a day when Megan spends some of the time trying to attract the attention of a passing ship
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Summary: the production possibility frontier




	
•  The production possibility frontier shows the maximum combinations of goods or services that can be produced in a period by a given set of resources.


	
•  At any point on the frontier, society is making full use of all resources.


	
•  At any point inside the frontier, there is unemployment of some resources.


	
•  Points beyond the frontier are unobtainable.


	
•  In a simple society producing two goods (consumer goods and capital goods), the choice is between consumption and investment for the future.


	
•  As society increases its stock of capital goods, the productive capacity of the economy increases, and the production possibility frontier moves outwards: this may be termed ‘economic growth’.
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Specialisation and the division of labour


How many workers does it take to make a pin? The eighteenth-century economist Adam Smith figured that 10 was about the right number. He argued that when a worker was producing pins on their own, carrying out all the various stages involved in the production process, the maximum number of pins that could be produced in one day was 20 — given the technology of his day, of course. This would imply that 10 workers could produce about 200 pins if they worked in the same way as the lone worker. However, if the pin production process were broken into 10 separate stages, with one worker specialising in each stage, the maximum production for a day’s work would be a staggering 48,000. This is known as division of labour.
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Key term


division of labour a process whereby the production procedure is broken down into a sequence of stages, and workers are assigned to a particular stage
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The division of labour is effective because individual workers become skilled at performing specialised tasks. By focusing on a particular stage, they can become highly adept, and thus more efficient, at carrying out that task. In any case, people are not all the same, so some are better at certain activities. Furthermore, this specialisation is more efficient because workers do not spend time moving from one activity to another. Specialisation may also enable firms to operate on a larger scale of production. You will see later that this may be advantageous.


This can be seen in practice in many businesses today, where there is considerable specialisation of functions. Workers are hired for particular tasks and activities. You do not see your star striker pulling on the goalkeeper’s jersey at half time because he fancies a change. Earlier in the chapter, it was argued that ‘labour’ is considered a factor of production. This idea can be developed further by arguing that there are different types of labour, having different skills and functions.




Advantages and disadvantages of division of labour


Specialisation therefore means that workers can focus on the tasks that they perform well and hence become more productive, which could then have a favourable effect on a firm’s costs of production. Training can also be provided more cost-effectively when it can be focused on specific tasks that workers need to perform. Furthermore, working as a team allows more overall output to be produced. However, it is possible to take specialisation too far. A worker who spends all their time on a narrow and repetitive task may find that it becomes tedious or that they become bored and careless. This could then mean that firms face problems of staff turnover. Over-specialisation may also mean that a team of workers becomes inflexible: if a worker specialising in a key part of the production process becomes ill, it may be difficult to find cover.
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Employees at a BMW factory. Each worker specialises in a particular task, creating an efficient assembly line













Specialisation between firms and nations


Although we refer to the division of labour, we can extend these arguments to consider specialisation among firms. For example, consider car manufacturing. The process of mass-producing cars does not all take place within a single firm. One firm may specialise in producing tyres; another may produce windscreens; another may focus on assembling the final product. Here again, specialisation enables efficiency gains to be made.


Specialisation also takes place among nations, simply because some countries are better equipped to produce some products than others. For example, it would not make sense for the UK to go into commercial production of pineapples or mangoes. There are other countries with climatic conditions that are much more suitable for producing these products. On the other hand, many Formula 1 racing teams have their headquarters in the UK, and there are benefits from this specialisation.


Specialisation may have disadvantages. A firm that specialises may find that it is vulnerable in times of recession, or if it supplies another firm that encounters trading difficulties. If this means that demand for its product falls, it may have to close down. This might be seen as an incentive to diversify its product range so that it does not depend so heavily on a particular activity or product.


A nation may face similar issues, especially if it chooses to specialise in a product that is strategically important. For example, a country that specialises in agricultural production may find itself in difficulty if the price of its products falls relative to other goods. If the country is highly dependent on exporting goods, or on importing key items, then a global disruption of trade could create problems. This was evident during the coronavirus (COVID-19) pandemic and the war in the Ukraine.
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Synoptic link


The possible gains from specialisation and trade are discussed more fully in Chapter 24 in the context of international trade.
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Test yourself 1.12


Name a possible disadvantage of over-specialisation in production.
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Summary: specialisation and the division of labour




	
•  Adam Smith introduced the notion of division of labour.


	
•  This suggests that workers can become more productive by specialising in stages of the production process.


	
•  This enables more output to be produced.


	
•  There may be limits to specialisation: in the production process, performing repetitive tasks may become tedious and induce errors, and for the firm or economy too much specialisation involves risk.
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Markets


You will find that in economics the term ‘market’ is used frequently, so it is important to be absolutely clear about what is meant by it.
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Key term


market a set of arrangements that allows transactions to take place
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A market need not be a physical location (although it could be — you might regard a local farmers’ market as an example of ‘a set of arrangements that allows transactions to take place’). The COVID-19 pandemic accelerated the trend towards online shopping, meaning that everyone has become accustomed to ways of buying and selling that do not involve direct physical contact between buyer and seller — so the notion of an abstract market should not be too alien a concept.


In relation to a particular product, a market brings together potential buyers and sellers. This is explored in the coming chapters.


Markets are important in the process of resource allocation, with prices acting as a key signal to potential buyers and sellers. If a firm finds that it cannot sell its output at the price it has chosen, this is a signal about the way that buyers perceive the product. Price is one way that firms find out about consumers and their willingness to pay for a particular product.
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Synoptic link


The role of prices in influencing resource allocation is explored more fully in Chapter 5.
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The functions of money


Imagine a world without money. It is lunchtime, and you fancy a banana. In your bag you have an apple. Perhaps you can find someone with a banana who fancies an apple? But the only person with a banana available fancies an ice cream. The problem with such a barter system is that you need to find someone who wants what you have and who has what you want — a double coincidence of wants. If this problem were to be faced by a whole economic system, undertaking transactions would be so inefficient as to be impossible. Hence the importance of money as a medium of exchange.


In order to fulfil this role, money must be something that is acceptable to both buyers and sellers. Nobody would accept money in payment for goods or services if they did not trust that they could proceed to use money for further transactions. Money must thus also act as a store of value: it must be possible to use it for future transactions. This quality of money means that it can be used as one way of storing wealth for future purchases.


Money also allows the value of goods, services and other assets to be compared — it provides a unit of account. In this sense, prices of goods reflect the value that society places on them, and must be expressed in money terms. So, money is also a measure of value.


A further role for money is that it acts as a method of deferred payment. For example, a firm may wish to agree a contract for the future delivery of a good, or may wish to hire a worker to be paid at the end of the month. Such contracts are typically agreed in terms of a money value.
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Test yourself 1.13


Name the four key functions of money.
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All of these functions of money are important to the smooth operation of markets, and are crucial if prices are to fulfil their role in allocating resources within society. This will become apparent as you learn more about economics.







The coordination problem


With so many different individuals and organisations (consumers, firms, governments) all taking decisions, a major question is how it all comes together. How are all these separate decisions coordinated so that the overall allocation of resources in a society is coherent? In other words, how can it be ensured that firms produce the commodities that consumers wish to consume? And how can the distribution of these products be organised? These are some of the basic questions that economics sets out to answer.




Market economy


A free market economy is one in which market forces are allowed to guide the allocation of resources within a society without intervention from government. Prices play a key role in this sort of system, providing signals and incentives to producers and consumers. Adam Smith argued that in such a system, resources would be allocated effectively (and fairly) through the operation of an ‘invisible hand’. This operates when individuals are free to pursue their own interests. Firms would produce the goods and services that consumers wish to consume.
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Synoptic link


The role of prices in influencing resource allocation is explored in Chapter 4.
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Karl Marx argued that in a capitalist society in which there is private ownership of productive resources, the owners of capital would exploit their position at the expense of labour, eventually resulting in revolution. Although this did not transpire in the way that Marx expected, there was a move in some countries away from private ownership of capital and towards state control of resource allocation through central planning.








Command economy


A command economy is one in which the government undertakes the coordination role, planning and directing the allocation of resources. Given the complexity of modern economies, reliance on central planning poses enormous logistical problems. In order to achieve a satisfactory allocation of resources across the economy, the government needs to make decisions on thousands of individual matters.
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Key terms


free market economy an economy in which market forces are allowed to guide the allocation of resources


command economy an economy in which decisions on resource allocation are guided by the state


[image: ]








One example of this emerges from the experience of central planning in Russia after the revolution in 1917. Factories were given production targets to fit in with the overall plan for the development of the economy. These targets then had to be met by the factory managers, who faced strong incentives to meet those targets. Factories producing nails were given two sorts of target. Some factories were given a target to produce a certain number of nails, whereas others were given targets in weight terms. The former responded by producing large numbers of very small nails; the latter produced a very small number of very big nails. Neither was what the planners had in mind!


Micromanagement on this sort of scale proved costly to implement administratively. The collapse of the Soviet bloc in the 1990s largely discredited this approach, although a small number of countries (such as North Korea and Cuba) continue to stick with central planning. China has moved away from pure central planning by beginning to allow prices to be used as signals.







Evaluation of economic systems


An influential economist was Friedrich von Hayek, who came from what became known as the neo-Austrian School. He saw that in the period after the Second World War, there was a move towards more intervention in the economy by governments which perceived that markets were not working effectively. For example, John Maynard Keynes had argued for a more active government in times of high unemployment, such as occurred in many countries in the 1930s. Hayek argued that such intervention would be damaging, because governments are faced with imperfect information, especially in a command economy. Markets would be more effective because they rely on people responding to signals and incentives.
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Study tip


Famous economists such as von Hayek and Keynes were influential in developing theories that we still rely upon today. Linking your own explanations of economic systems to their ideas can help you to develop your arguments.


[image: ]








Free market and centrally planned economies tackle the problem of how to allocate resources in very different ways, but both extreme forms are seen to experience problems. There are situations in which a free market system fails to produce an outcome that is good for society. On the other hand, the logistical problems facing a centrally planned economy also create insurmountable difficulties in micromanaging such a complex economic system.


In a free market system, prices can guide the allocation of resources in line with consumer preferences. Competition between firms can help to drive innovation and efficiency in production. However, markets do not always work effectively (as will be seen later in this Theme). Another disadvantage is that without government intervention, inequality between groups in society can arise, and the poor may not always be adequately protected.


In a command economy, there may be more equality across society and the government may be able to ensure good provision of essential services. However, inefficiency occurs when the allocation of resources is centrally directed. There may also be limits to inequality if certain groups are able to corner more than their fair share of the country’s resources.


In practice, most economies operate a mixed economy system, in which market forces are complemented by some state intervention. This may be important because free markets can lead to inequality in the distribution of resources in society. It has been argued that any such state intervention should be market-friendly: in other words, when governments do intervene in the economy, they should do so in a way that helps markets to work, rather than trying to have the government replace market forces. In such an economy, the government plays a minimal role by setting the framework in which markets can operate.
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Key term


mixed economy an economy in which resources are allocated partly through price signals and partly on the basis of intervention by the state
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Incentives


Another important concept that is at the heart of economic analysis is the notion that individuals respond to incentives. The coordination problem is handled in different forms of economy through the operation of different forms of incentive that influence decision making. In a market economy, prices and profits provide incentives, whereas in a centrally planned economy these incentives are replaced by state directives.
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Test yourself 1.14


Name one example of a mixed economy.
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Microeconomics and macroeconomics


The discussion so far has focused sometimes on individual decisions, and sometimes on the decisions of governments, or of ‘society’ as a whole. Economic thinking is applied in different ways, depending on whether the focus is on the decisions taken by individual agents in the economy or on the interaction between economic variables at the level of the whole economy:




	
•  Microeconomics deals with individual decisions taken by households or firms, or in particular markets.


	
•  Macroeconomics examines the interactions between economic variables at the level of the aggregate economy.
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Key terms


microeconomics the study of economic decisions taken by individual economic agents, including households and firms


macroeconomics the study of the interrelationships between economic variables at an aggregate (economy-wide) level
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In some ways the division between the two types of analysis is artificial. The same sort of economic reasoning is applied in both types, but the focus is different.
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Exercise 1.5


Think about the following, and see whether you think each represents a microeconomic or macroeconomic phenomenon:




	
a  the overall level of prices in an economy


	
b  the price of ice cream


	
c  the overall rate of unemployment in the UK


	
d  the unemployment rate among catering workers in Aberdeen


	
e  the average wage paid to construction workers in Southampton
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Summary: free market, mixed and command economies




	
•  Decisions about resource allocation need to be coordinated within a society.


	
•  This may happen by allowing markets to guide decisions, through direct intervention by the state, or through a combination of the two in a mixed economy.


	
•  Microeconomics deals with individual decisions made by consumers and producers, whereas macroeconomics analyses the interactions between economic variables in the aggregate — but both use similar ways of thinking.
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Economics in the real world 1.1


Plantains and coffee


Jacob is a subsistence farmer who lives in Nangare, a village in the west of Uganda. He lives in a mud hut and owns two sheep, two chickens and one mattress for his household of ten people. He farms a small piece of land, on which he grows plantains (a staple food crop in Uganda, related to the banana) and some coffee. One of the key decisions that Jacob faces is how to allocate his land between plantains and coffee. If he chooses to plant more coffee in his field, he faces a cost, as growing more coffee means growing fewer plantains.
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Plantains or coffee? How will Jacob allocate his land?








A number of factors are likely to influence this decision. For example, the prices of plantains and coffee may be important, and it may be that the costs involved in growing the two crops are different. Or it may be that some parts of the land are more suitable for growing one of the crops. There may also be other crops that could be grown on the land. All of these factors could affect Jacob’s decisions.


Follow-up questions




	
a  With reference to Jacob’s choice between growing plantains and coffee, explain the concept of opportunity cost.


	
b  Draw a possible production possibility frontier to illustrate Jacob’s choice of producing plantains and coffee.


	
c  Identify a point on the diagram that you drew for part (b) to illustrate a situation in which:



	
i   Jacob uses his land to produce only plantains.


	
ii  Jacob uses his land to produce a combination of plantains and coffee.


	
iii Jacob does not use all of the land available, but produces a combination of the two crops.
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Exam-style questions


1.1 Nature of economics


Short-answer questions




	
1  The production possibility frontier can be used to illustrate the trade-off between consumer and capital goods. An economy is currently achieving economic efficiency.



	
a  Economic efficiency is best illustrated by any point:

(1)




	
A  On the production possibility frontier


	
B  Where more consumer goods are produced than capital goods


	
C  Within the production possibility frontier


	
D  Where more capital goods are produced than consumer goods








	
b  Draw a fully labelled production possibility frontier diagram to illustrate the opportunity cost of an economy producing more consumer goods.

(4)











	
2  Economics is an example of a social science.



	
a  As a social science, economics is least likely to involve:

(1)




	
A  Making assumptions


	
B  Building economic models


	
C  Making value judgements


	
D  Conducting scientific experiments





Global wind generation rose from 1,587 to 1,814 terawatt hours between 2020 and 2021. However, many environmentalists believe the transition to renewable energy is too slow.










	
b  Explain what is meant by the term ‘positive statement’.  (2)



	
c  Calculate the percentage change in global wind generation between 2020 and 2021. You are advised to show your workings.  (2)












Data response question: Government spending on HS2


Extract A: The rising cost of HS2


In February 2020, Boris Johnson confirmed the go-ahead for High Speed 2 (HS2). The controversial high-speed railway aims to reduce journey times between London and cities in the Midlands and the North of England, as well as increasing the rail network capacity.


Construction began in September 2020 and will employ 22,000 workers in its first phase. Division of labour is crucial to the success of the project and will be aided by the use of the most up-to-date technology. Although many of the jobs created will be directly in the construction of the railway itself, HS2 will also employ engineers, architects and designers.


However, there are also concerns about the increased government spending on the HS2 project, with the cost rising from £32.7 billion in 2012 to £56 billion in 2015. An independent review says the final bill could be as high as £106 billion. There have also been delays during the COVID-19 pandemic due to social distancing requirements, staff absences and problems resulting from global supply-chain disruption.




	
3  a  With reference to Extract A, explain how increased government spending on the HS2 project will influence its opportunity cost.

(5)





	    b  Assess the likely benefit of using division of labour in the HS2 project.

(10)








Essay question




	
4  According to the Index of Economic Freedom in 2022, Singapore is the best example of a free market economy in the world. The Singaporean economy is characterised by low levels of regulation and taxation.

Evaluate the likely benefits of scarce resources being allocated by a free market economy, such as Singapore. Refer to at least one famous economist in your answer.


(25)
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2 The nature of demand



1.2.1, 1.2.2, 1.2.3





The demand and supply model is perhaps the most famous of all pieces of economic analysis; it is also one of the most useful. It has many applications that help explain the way markets work in the real world. It is thus central to understanding economics. This chapter introduces the ‘demand’ side of the model. Chapter 3 will introduce supply.
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In this chapter


After studying this chapter, you should:




	
•  be aware of the assumptions of rational economic decision making


	
•  be familiar with the notion of the demand for a good or service


	
•  be aware of the relationship between the demand for a good and its price


	
•  be familiar with the demand curve and the law of demand


	
•  understand the distinction between a movement along the demand curve and a shift in its position


	
•  be aware of the distinction between normal and inferior goods and between substitutes and complements


	
•  understand the other influences that affect the position of the demand curve


	
•  understand the concept of elasticity measures and appreciate their importance and applications
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Rational decision making


Before trying to analyse the way in which economic agents take decisions, it is important to make assumptions about what it is that they are aiming to achieve. This is the case for consumers and for firms.


Consider an individual consumer, taking a decision about which products to consume. What motivates that decision? A simple assumption is that the individual wants to gain as much satisfaction as possible from the combination of products that are consumed. Economists refer to satisfaction in this context as utility, so the assumption that is made is that rational consumers set out to maximise their utility.


The corresponding assumption for firms is that they aim to make as much profit as possible: in other words, they aim to maximise profits. In this context, profit is defined as the total revenue that firms receive from selling their product minus the total cost of production.
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Key term


profit the total revenue a firm receives from selling its product minus the total cost of producing it
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Why is it important to assume rational decision making by economic agents such as consumers and firms? The simple reason is that unless we do this, we cannot analyse how consumers or firms will act. In other words, if we know that a consumer sets out to maximise satisfaction, we can build a model to show under what conditions they would achieve this. On the other hand, if we do not know what they want to achieve, we have no way of understanding their behaviour.
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Synoptic link


A more precise definition of profit will be introduced in Chapter 18.
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Synoptic link


Behavioural economics is a rapidly growing branch of economics that analyses how consumers and producers may take decisions that seem to contradict rational decision making. The behaviour of consumers in this context is explored in Chapter 5. Ways in which firms may depart from profit-maximising behaviour and pursue alternative objectives are discussed in Chapter 17.
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This assumption of rational behaviour has underpinned economic analysis from its beginnings. It enables economists to further our understanding of human behaviour and to identify situations in which people seem to depart from rationality.


Do people always act rationally? Not necessarily — or not in the way that economists think about rational behaviour. Later, we explore situations in which consumers or firms may choose to pursue other objectives, and analyse how this affects the economic analysis of behaviour.







Demand


Consider an individual consumer. Think of yourself, and a product that you consume regularly. What factors influence your demand for that product? Put another way, what factors influence how much of the product you choose to buy?
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Key term


demand the quantity of a good or service that consumers are willing and able to buy at any given price in a given period of time
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When thinking about the factors that influence your demand for your chosen product, common sense will probably mean that you focus on a range of things. You may think about why you enjoy consuming the product. You may focus on the price of the product, and whether you can afford it. You may decide that you have consumed a product so much that you are ready for a change; or perhaps you will decide to try something advertised on television, or being bought by a friend.


Whatever the influences you come up with, they can probably be categorised under four headings that ultimately determine your demand for a good.




	
•  The price of the good is an important influence on your demand for it, and will affect the quantity of it that you choose to buy.


	
•  The price of other goods may be significant.


	
•  Your income will determine how much of the good you can afford to purchase.


	
•  Almost any other factors that you may have thought of can be listed as part of your preferences.
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Study tip


Always be careful to distinguish between ‘price’ and ‘cost’. These are sometimes used interchangeably in everyday language, but in economics they mean different things.
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This reasoning is based on the assumption that consumers act rationally, by seeking to take decisions that will produce the best result possible given the constraints that they face. The ‘best’ result in this context is judged in terms of the utility (satisfaction) gained from consuming a good or service. The additional utility gained from consuming an extra unit of a good is known as the marginal utility.


This provides the basis for the economic analysis of demand. A lot of economic analysis begins in this way, by constructing a model rooted in how we expect rational people or firms to behave.




Individual and market demand


A similar line of argument may apply if we think in terms of the demand for a particular product — say, tablet computers. The market for tablets can be seen as bringing together all the potential buyers (and sellers) of the product, and market demand can be analysed in terms of the factors that influence all potential buyers of that good or service. In other words, market demand can be seen as the total quantity of a good or service that all potential buyers are willing and able to buy at any given price in a given period of time. The same four factors that influence your own individual decision to buy will also influence the total market demand for a product. In addition, the number of potential buyers in the market will clearly influence the size of total demand at any price.
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Test yourself 2.1


How do economists refer to the additional satisfaction gained by a consumer from an extra unit of a good?
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What factors influence the demand for tablets?













Demand and the price of a good


Assume for the moment that the influences mentioned above, other than the price of the good, are held constant, so that the focus is only on the extent to which the price of a good influences the demand for it. Given the complexity of the real world, it is often helpful to focus on one thing at a time.
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Synoptic link


This common sort of assumption in economics was introduced in Chapter 1, using the Latin phrase ceteris paribus.
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For an individual, the marginal utility that you gain from conysuming a product is likely to decline the more of it you consume, although your total utility may increase. You may gain lots of utility from the first chocolate bar that you eat, but the tenth bar will add less satisfaction. In other words, the additional (marginal) utility that you receive from consuming a good is likely to decline as you consume more of it. This is referred to as diminishing marginal utility, and suggests that you will place a lower value on a product, the more of it you have already consumed. This influences the shape of the demand curve, as the price that you would pay for relatively large amounts of a product would be correspondingly low.




The law of demand and the demand curve


How is the demand for tablet computers influenced by their price? Other things being equal (ceteris paribus), you would expect the demand for tablets in the market as a whole to be higher when the price is low and lower when the price is high. In other words, you would expect an inverse relationship between the price and the quantity demanded. This is such a strong phenomenon that it is referred to as the law of demand.


If you were to compile a list that showed how many tablets would be bought at any possible price and plot these on a diagram, this would be called the demand curve. Figure 2.1 shows what this might look like. As it is an inverse relationship, the demand curve slopes downwards. Notice that this need not be a straight line: its shape depends on how consumers react at different prices.
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Key terms


diminishing marginal utility describes the situation where an individual gains less additional utility from consuming a product, the more of it is consumed


law of demand a law that states that there is an inverse relationship between quantity demanded and the price of a good or service, ceteris paribus


demand curve a graph showing how much of a good will be demanded by consumers at any given price
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Synoptic link


We discuss markets again in Chapter 4.
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Test yourself 2.2


What is the law of demand?
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Figure 2.1 A demand curve for tablet computers
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Quantitative skills 2.1


Reading a graph with numbers


An important skill is to be able to read off numerical values from a graph such as Figure 2.1. If you wanted to see what the quantity demanded would be at a particular price, you would select the price on the vertical axis, and then read off the value on the horizontal axis at that price. For example, in this figure, if price were to be set at £40, the quantity demanded would be 20,000 per period. However, if the price were only £20, the demand would be higher, at 60,000.


If you are studying maths as one of your A level subjects, you may wonder why we draw the demand curve with price on the vertical axis and quantity on the horizontal axis, when we are saying that quantity depends upon price and not the other way round. The simple answer is that Alfred Marshall drew it this way when he became the first person to draw a demand curve in his economics textbook in 1890, and it became the norm.


You may also wonder why this is called a demand curve when it is a straight line. Note that it need not be a straight line, but it is convenient to use one. Think of it as a straight curve.
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Exercise 2.1


Table 2.1 shows how the demand for trinkets varies with their price. Draw the demand curve.


Table 2.1 The demand for trinkets








	Price (£)

	100

	90

	80

	70

	60

	50

	40

	30

	20






	Quantity

	0

	3

	7

	15

	25

	40

	60

	85

	120
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Extension material: the demand curve and income and substitution effects


An analysis of why the demand curve should be downward sloping would reveal that there are two important forces at work. At a higher price, a consumer buying a tablet computer has less income left over. This is referred to as the real income effect of a price increase. In addition, if the price of tablets goes up, consumers may find other goods more attractive and choose to buy something else instead of tablets. This is referred to as the substitution effect of a price increase.
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Movements along and shifts in the demand curve


As the price of a good changes, a movement along the demand curve can be observed as consumers adjust their buying pattern in response to the price change.


Notice that the demand curve has been drawn under the ceteris paribus assumption. In other words, it was assumed that all other influences on demand were held constant in order to focus on the relationship between demand and price. There are two important implications of this procedure.




	
•  First, the price drawn on the vertical axis of a diagram such as Figure 2.1 is the relative price — it is the price of tablets under the assumption that all other prices are constant.


	
•  Second, if any of the other influences on demand change, you would expect to see a shift of the whole demand curve. It is very important to distinguish between factors that induce a movement along a curve (known as an extension or contraction of demand), and factors that induce a shift of a curve (referred to as an increase or decrease in demand). This applies not only in the case of the demand curve — there are many other instances where this distinction is important.





The two panels of Figure 2.2 show this difference. In panel (a), the demand curve has shifted to the right because of a change in one of the factors that influence demand. In panel (b), the price of tablets falls from P0 to P1, inducing a movement along the demand curve as demand expands from Q0 to Q1.
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Figure 2.2 A shift in the demand curve and a movement along it
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Study tip


In order to emphasise the difference between a shift of the demand curve and a movement along it, the convention is adopted to use an extension (or contraction) of demand for a movement along the demand curve, and to use an increase (or decrease) to denote a shift of the curve. Such shifts are caused by factors sometimes known as the conditions of demand.


[image: ]












[image: ]


Test yourself 2.3


Explain the difference between an extension of demand and an increase in demand.
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Extension material: snob effects


It is sometimes argued that for some goods a ‘snob effect’ may lead to the demand curve sloping upwards. The argument is that some people may value certain goods more highly simply because their price is high, especially if they know that other people will observe them consuming these goods; an example might be Rolex watches. In other words, people gain value from having other people notice that they are rich enough to afford to consume a particular good. This conspicuous consumption effect was first pointed out by Thorstein Veblen at the end of the nineteenth century. Indeed, it is sometimes known as the Veblen effect.


However, although there may be some individual consumers who react to price in this way, there is no evidence to suggest that there are whole markets that display an upward-sloping demand curve for this reason. In other words, most consumers would react normally to the price of such goods.
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Rolex watches may benefit from the conspicuous consumption effect
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Demand and consumer incomes


The second influence on demand is consumer incomes. For a normal good, an increase in consumer incomes will, ceteris paribus, lead to an increase in the quantity demanded at any given price. Holidays abroad are an example of a normal good because, as people’s incomes rise, they will tend to demand more holidays abroad at any given price.
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Key term


normal good one where the quantity demanded increases in response to an increase in consumer incomes
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Figure 2.3 illustrates this. D0 here represents the initial demand curve for holidays abroad. An increase in consumers’ incomes causes demand to be higher at any given price, and the demand curve shifts to the right — to D1.




[image: ]



Figure 2.3 A shift in the demand curve following an increase in consumer incomes (a normal good)
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Figure 2.4 A shift in the demand curve following an increase in consumer incomes (an inferior good)








However, demand does not always respond in this way. For example, think about bus journeys. As incomes rise in a society, more people can afford to have a car, or to use taxis. This means that, as incomes rise, the demand for bus journeys may tend to fall. Such goods are known as inferior goods.
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Key term


inferior good one where the quantity demanded decreases in response to an increase in consumer incomes
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This time an increase in consumers’ incomes in Figure 2.4 causes the demand curve to shift to the left, from its initial position at D0, to D1 where less is demanded at any given price.
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Exercise 2.2


Identify each of the following products as being either a normal good or an inferior good:




	
a  smartphone


	
b  magazine


	
c  potatoes


	
d  bicycle


	
e  fine wine


	
f  cheap wine
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Test yourself 2.4


What is meant by a ‘normal good’?
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Extension material: Giffen goods


Remember that a consumer’s response to a change in the price of a good is made up of a substitution effect and a real income effect (see the extension material on page 24). The substitution effect always acts in the opposite direction to the price change: in other words, an increase in the price of a good always induces a switch away from the good towards other goods. However, it can now be seen that the real income effect may operate in either direction, depending on whether it is a normal good or an inferior good that is being considered.


Suppose there is a good that is very inferior. A fall in the price of a good induces a substitution effect towards the good, but the real income effect works in the opposite direction. The fall in price is equivalent to a rise in real income, so consumers will consume less of the good. If this effect is really strong, it could overwhelm the substitution effect, and the fall in price could induce a fall in the quantity demanded: in other words, for such a good the demand curve could be upward sloping.


Such goods are known as Giffen goods, after Sir Robert Giffen, who pointed out that this could happen. However, in spite of stories about the reaction of demand to a rise in the price of potatoes during the great Irish potato famine in the late 1840s, there have been no authenticated sightings of Giffen goods. The notion remains a theoretical curiosity.
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Demand and the price of other goods


The demand for a good may respond to changes in the price of other related goods, of which there are two main types. On the one hand, two goods may be substitutes for each other. For example, consider two different (but similar) breakfast cereals. If there is an increase in the price of one of the cereals, consumers may switch their consumption to the other, as the two are likely to be close substitutes for each other. Not all consumers will switch, of course — some may be deeply committed to one particular brand — but some of them are certainly likely to change over.


On the other hand, there may also be goods that are complements — for example, products that are consumed jointly, such as breakfast cereals and milk, or cars and petrol. Here a fall in the price of one good may lead to an increase in demand for both products.
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Key terms


substitutes two goods are said to be substitutes if the demand for one good is likely to rise if the price of the other good rises


complements two goods are said to be complements if an increase in the price of one good causes the demand for the other good to fall
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Whether goods are substitutes or complements determines how the demand for one good responds to a change in the price of another. Figure 2.5 shows the demand curves (per period) for two goods that are substitutes — tea and coffee. If there is an increase in the price of tea from P0 to P1 in panel (a), more consumers will switch to coffee and the demand curve in panel (b) will shift to the right — say, from Dc0 to Dc1.
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Figure 2.5 A shift in the demand curve following an increase in the price of a substitute good








For complements, the situation is the reverse: in Figure 2.6 an increase in the price of tea from P0 to P1 in panel (a) causes the demand curve for milk to shift leftwards, from Dm0 to Dm1.
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Figure 2.6 A shift in the demand curve following an increase in the price of a complementary good













Demand, consumer preferences and other influences




Consumer preferences


The discussion has shown how the demand for a good is influenced by the price of the good, the price of other goods and consumer incomes. It was stated earlier that almost everything else that determines demand for a good can be represented as ‘consumer preferences’. In particular, this refers to whether you like or dislike a good. There may be many things that influence whether you like or dislike a product. In part it simply depends on your own personal inclinations — some people like dark chocolate, others prefer milk chocolate. However, firms may try to influence your preferences through advertising or branding, and sometimes they succeed. Or you might be one of those people who get so irritated by television advertising that you compile a blacklist of products that you will never buy! Even this is an influence on your demand.


In some cases, your preferences may be swayed by other people’s demand — again, this may be positive or negative. Fashions may influence demand, but some people like to buck (or lead) the trend.


You may also see a movement of the demand curve if there is a sudden surge in the popularity of a good — or, indeed, a sudden collapse in demand.
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Study tip


As you proceed through your study of economics, it is useful to keep track of some key issues. An example is the key influences on the demand for a good, which are:




	
•  the price of the good


	
•  the prices of other goods — in particular, the substitutes and complements


	
•  consumer incomes


	
•  consumer preferences


	
•  the time period over which demand is being considered





Keep a note of these and be ready to make use of them.
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Exercise 2.3


Draw some demand curves for the following situations to show how you would expect the demand curve to change (if at all). Remember that your diagram should have price on the vertical axis and quantity on the horizontal axis. In some cases, there will be a shift in the demand curve, but in some there may be an extension or contraction.




	
a  the demand for chocolate following a campaign highlighting the dangers of obesity


	
b  the demand for oranges following an increase in the price of apples


	
c  the demand for oranges following a decrease in the price of oranges


	
d  the demand for Blu-ray discs following a decrease in the price of Blu-ray players


	
e  the demand for private transport following an increase in consumer incomes


	
f  the demand for public transport following an increase in consumer incomes
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The effect of time


The above discussion has covered most of the factors that influence the demand for a good. However, in some cases it is necessary to take a time element into account. Not all of the goods bought are consumed instantly. In some cases, consumption is spread over long periods of time. Indeed, there may be instances where goods are not bought for consumption at all, but are seen by the buyer as an investment, perhaps for resale at a later date. In these circumstances, expectations about future price changes may influence demand. For example, people may buy fine wine or works of art in the expectation that prices will rise in the future. There may also be goods whose prices are expected to fall in the future. This has been common with many high-tech products, such as the latest smartphones. Initially a newly launched product may sell at a high price, but as production levels rise, costs may fall, and prices too. People may therefore delay purchase in the expectation of future price reductions.
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Test yourself 2.5


Are people likely to respond more or less strongly to a change in price as time passes?
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Summary: markets and demand




	
•  A market is a set of arrangements that enables transactions to take place.


	
•  The market demand for a good depends on the price of the good, the price of other goods, consumers’ incomes and preferences, and the number of potential consumers.


	
•  The demand curve shows the relationship between demand for a product and its price, ceteris paribus.


	
•  The demand curve is downward sloping, as the relationship between demand and price is an inverse one.


	
•  A change in price induces a movement along the demand curve, whereas a change in the other determinants of demand induces a shift in the demand curve.


	
•  When the demand for a good rises as consumer incomes rise, that good is referred to as a normal good; when demand falls as income rises, the good is referred to as an inferior good.


	
•  A good or service may be related to other goods by being either a substitute or a complement.


	
•  For some products, demand may be related to expected future prices.
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Elasticity: the sensitivity of demand


Both the demand for and the supply of a good or service can be expected to depend on its price as well as other factors. It is often interesting to know just how sensitive demand and/or supply will be to a change in either price or one of the other conditions of demand — for example, in predicting how market equilibrium will change in response to a change in the market environment. The sensitivity of demand to a change in one of its determining factors can be measured by its elasticity.
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Key term


elasticity a measure of the sensitivity of one variable to changes in another variable
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The price elasticity of demand


The most common elasticity measure is the price elasticity of demand (PED). This measures the sensitivity of the quantity demanded of a good or service to a change in its price.


The elasticity is defined as the percentage change in quantity demanded divided by the percentage change in the price.
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Quantitative skills 2.2


Describing an elasticity


Strictly speaking, demand is inelastic when the PED is between 0 and −1 and elastic when the PED is smaller than −1. However, this is not very intuitive unless you are a mathematician. The PED is always negative, and economists sometimes omit the minus sign and focus just on the numerical value. You may therefore find people saying that ‘demand is elastic when the PED is larger than 1’, when what they actually mean is that the PED is smaller than −1; in other words, it is negative but with a numerical value greater than 1. The important thing is to understand what is meant by elastic and inelastic demand, and how these are defined numerically.
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There are two important things to notice. First, because the demand curve is downward sloping, the elasticity will always be negative. This is because the changes in price and quantity are always in the opposite direction. Second, you should try to calculate the elasticity only for a relatively small change in price, as it becomes unreliable for very large changes.


When the demand is highly price sensitive, the percentage change in quantity demanded following a price change will be large relative to the percentage change in price. In this case, PED will take on a value that is greater than 1 (ignoring the minus sign). For example, suppose that a 2% change in price leads to a 5% change in quantity demanded; the elasticity is then −5 divided by 2 = −2.5. When the price elasticity is greater than 1, demand is referred to as being elastic.


When demand is not very sensitive to price, the percentage change in quantity demanded will be smaller than the original percentage change in price, and the elasticity will then be less than 1. For example, if a 2% change in price leads to a 1% change in quantity demanded, then the value of the elasticity will be −1 divided by 2 = −0.5. In this case, demand is referred to as being inelastic.


We define the percentage change in price as 100 × ΔP/P (where Δ means ‘change in’ and P stands for price). Similarly, the percentage change in quantity demanded is 100 × ΔQ/Q. Then the formula for the elasticity is:
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For any straight-line demand curve, demand is relatively elastic at higher prices and relatively inelastic at lower prices. At the halfway point the elasticity is exactly −1, and demand is referred to as unitary elastic.
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Key terms


price elasticity of demand (PED) a measure of the sensitivity of quantity demanded to a change in the price of a good or service. It is measured as:
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elastic a term used when the numerical value of the elasticity is greater than 1 but less than infinity


inelastic a term used when the numerical value of the elasticity is less than 1 but greater than zero


unitary elastic a term used when the numerical value of the elasticity is equal to 1
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Why should this happen? The key is to remember that elasticity is defined in terms of the percentage changes in price and quantity. Thus, when price is relatively high, a 1p change in price is a small percentage change, and the percentage change in quantity is relatively large — because when price is relatively high, the initial quantity is relatively low. The reverse is the case when the price is relatively low. Notice that the PED is infinity when quantity is zero, and zero when the price is zero. Figure 2.7 shows how the elasticity of demand varies along a straight-line demand curve.
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Figure 2.7 The price elasticity of demand varies along a straight line
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Quantitative skills 2.3


Calculating an elasticity
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Figure 2.8 A demand curve for pencils








Figure 2.8 shows a demand curve for pencils. When the price of a pencil is 40p, the quantity demanded will be 20. If the price falls to 35p, the quantity demanded will rise to 30. The percentage change in quantity is 100 × 10/20 = 50 and the percentage change in price is 100 × −5/40 = −12.5. Thus, the elasticity can be calculated as (50/−12.5) = −4. At this price, demand is highly price elastic.


At a lower price, the result is quite different. Suppose that price is initially 10p, at which price the quantity demanded is 80. If the price falls to 9p, demand increases to 82. The percentage change in quantity is now 100 × 2/80 = 2.5, and the percentage change in price is 100 × −1/10 = −10, so the elasticity is calculated as 2.5/−10 = −0.25, and demand is now price inelastic.
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Test yourself 2.6


Why is the PED always negative?
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Extension material: elasticity


An alternative way of looking at this is to notice that, because the demand curve is drawn as a straight line, the ratio of the change in quantity to the change in price (ΔQ/ΔP) is always the same. (In fact, this is the slope of the demand curve.) However, the ratio of the level of quantity to price varies along the demand curve. When price is relatively high, quantity is relatively low, so P/Q is high and elasticity is high. Conversely, when price is low, quantity is high and P/Q is low.
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An example


A study by the Institute for Fiscal Studies for the UK found that the price elasticity of demand for wine was −1.69. This means that demand for wine is relatively elastic. If the price of wine were to increase by 10% (ceteris paribus), there would be a fall of 16.9% in the quantity of wine demanded.
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Test yourself 2.7


Suppose that a good has a PED of −0.3. Would you describe this as being relatively price elastic or relatively price inelastic?
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The price elasticity of demand and total revenue


One reason why firms may have an interest in the price elasticity of demand is that if they are considering changing their prices, they will be eager to know the extent to which demand will be affected. For example, they may want to know how a change in price will affect their total revenue. As it happens, there is a consistent relationship between the price elasticity of demand and total revenue.


Total revenue is given by price multiplied by quantity. In Figure 2.9, if price is at P0, quantity demanded is at Q0 and total revenue is given by the area of the rectangle OP0AQ0. If price falls to P1, the quantity demanded rises to Q1, and you can see that total revenue has increased, as it is now given by the area OP1BQ1. This is larger than at price P0, because in moving from P0 to P1 the area P1P0AC is lost, but the area Q0CBQ1 is gained, and the latter is the larger. As you move down the demand curve, total revenue at first increases like this, but then decreases — try sketching this for yourself to check that it is so.




[image: ]



Figure 2.9 Demand and total revenue
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Quantitative skills 2.4


Elasticity and total revenue


Quantitative skills box 2.3 showed how to calculate the price elasticity of demand at different points along a demand curve for pencils. When the price of a pencil fell from 40 to 35, the quantity demanded rose from 20 to 30, and elasticity was calculated to be −4.


Total revenue before and after the price change can be calculated. Total revenue is equal to price multiplied by quantity, so at the original price revenue was 40 × 20 = 800. At the new lower price, total revenue was 35 × 30 = 1,050. We can therefore see that when the price elasticity of demand is elastic, a fall in price leads to a rise in revenue.


When the price of a pencil fell from 10 to 9, and quantity demanded rose from 80 to 82, demand was inelastic (−0.25). At the original price, revenue was 10 × 80 = 800, and at the lower price it was 9 × 82 = 738. This time, total revenue has fallen with a fall in price and inelastic demand.
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For the case of a straight-line demand curve, the relationship is illustrated in Figure 2.10. Remember that demand is price elastic when price is relatively high. This is the range of the demand curve in which total revenue rises as price falls. This makes sense, as in this range the quantity demanded is sensitive to a change in price and increases by more (in percentage terms) than the price falls. This implies that as you move to the right in this segment, total revenue rises. The increase in quantity sold more than compensates for the fall in price. However, when the mid-point is reached and demand becomes unit elastic, total revenue stops rising — it is at its maximum at this point. The remaining part of the curve is inelastic: that is, the increase in quantity demanded is no longer sufficient to compensate for the decrease in price, and total revenue falls. Table 2.2 summarises the situation.
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Figure 2.10 Elasticity and total revenue
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Synoptic link


This relationship appears again in the discussion of firm behaviour in Chapter 19.
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Table 2.2 Total revenue, elasticity and a price change








	Price elasticity of demand

	For a price increase, total revenue…

	For a price decrease, total revenue…










	Elastic

	falls

	rises






	Unit elastic

	does not change

	does not change






	Inelastic

	rises

	falls









Thus, if a firm is aware of the price elasticity of demand for its product, it can anticipate consumer response to its price changes, which may be a powerful strategic tool.


One very important point must be made here. If the price elasticity of demand varies along a straight-line demand curve, such a curve cannot be referred to as either elastic or inelastic. To do so is to confuse the elasticity with the slope of the demand curve. It is not only the steepness of the demand curve that determines the elasticity, but also the point on the curve at which the elasticity is measured.
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Test yourself 2.8


What would happen to a firm’s total revenue if it were to increase the price of its product when demand is elastic?
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Perfectly elastic and inelastic demand


Two extreme cases of the PED should also be mentioned. Demand may sometimes be totally insensitive to price, so that the same quantity will be demanded whatever price is set for it. In such a situation, demand is said to be perfectly inelastic. The demand curve in this case is vertical — as in Di in Figure 2.11. In this situation, the numerical value of the price elasticity is zero, as quantity demanded does not change in response to a change in the price of the good.
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Figure 2.11 Perfectly elastic and inelastic demand








The other extreme is shown on the same figure, where De is a horizontal demand curve and demand is perfectly elastic. The numerical value of the elasticity here is infinity. Consumers demand an unlimited quantity of the good at price Pe. No firm has any incentive to lower price below this level, but if price were to rise above Pe, demand would fall to zero.
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Study tip


In summary, remember that:








	
PED = 0

	Demand is perfectly inelastic






	
PED is between 0 and −1

	Demand is price inelastic






	
PED = −1

	Demand is unit price elastic






	
PED is between −1 and infinity

	Demand is price elastic






	
PED = infinity

	Demand is perfectly elastic
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Factors that influence the price elasticity of demand


A number of important influences on the price elasticity of demand can now be identified. The most important is the availability of substitutes for the good or service under consideration. For example, think about the demand for cauliflower. Cauliflower and broccoli are often seen as being very similar, so if the price of cauliflower is high one week, people might quite readily switch to broccoli. The demand for cauliflower can be said to be price sensitive (relatively elastic), as consumers can readily substitute an alternative product. On the other hand, if the price of all vegetables rises, demand will not change very much, as there are no substitutes for vegetables in the diet. Thus, goods that have close substitutes available will tend to exhibit relatively elastic demand, whereas the demand for goods for which there are no substitutes will tend to be more inelastic.
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Cauliflower and broccoli are easily substituted, so demand will be elastic








Associated with this is the question of whether an individual regards a good or service as a necessity or as a luxury item. If a good is a necessity, then demand for it will tend to be inelastic, whereas if a good is regarded as a luxury, consumers will tend to be more price sensitive. This is closely related to the question of substitutes, as by labelling a good as a necessity one is essentially saying that there are no substitutes for it.


A further influence on the PED is the relative share of the good or service in overall expenditure. You may not notice small changes in the price of an inexpensive item that is a small part of overall expenditure, such as salt or sugar. This tends to mean that demand for that good is relatively inelastic. On the other hand, an item that figures large in the household budget will be seen very differently, and consumers will tend to be much more sensitive to price when a significant proportion of their income is involved.


Finally, the time period under consideration may be important. Consumers may respond more strongly to a price change in the long run than in the short run. An increase in the price of petrol may have limited effects in the short run; however, in the long run consumers may buy smaller cars or switch to electric cars. They may even consider greater use of public transport. Thus, the elasticity of demand tends to be more elastic in the long run than in the short run. Habit or commitment to a certain pattern of consumption may dictate the short-run pattern of consumption, but people do eventually adjust to price changes.
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Study tip


Be ready to identify the four key influences on the PED:




	
•  the availability of close substitutes for the good


	
•  whether the good is perceived as a necessity


	
•  the proportion of income or expenditure devoted to the good


	
•  the time period over which elasticity is considered
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Summary: price elasticity of demand




	
•  The price elasticity of demand (PED) measures the sensitivity of the quantity of a good demanded to a change in its price.


	
•  As there is an inverse relationship between quantity demanded and price, the price elasticity of demand is always negative.


	
•  Where consumers are sensitive to a change in price, the percentage change in quantity demanded will exceed the percentage change in price. The elasticity of demand then takes on a value that is smaller than minus 1, and demand is said to be relatively elastic.


	
•  Where consumers are not very sensitive to a change in price, the percentage change in quantity demanded will be smaller than the percentage change in price. Elasticity of demand then takes on a value that is between zero and minus 1, and demand is said to be relatively inelastic.


	
•  When demand is elastic, a fall (rise) in price leads to a rise (fall) in total revenue.


	
•  When demand is inelastic, a fall (rise) in price leads to a fall (rise) in total revenue.


	
•  The size of the price elasticity of demand is influenced by the availability of substitutes for a good, whether the good is seen as a luxury or a necessity, the relative share of expenditure on the good in the consumer’s budget and the time that consumers have to adjust.
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Exercise 2.4


Examine Table 2.3, which shows the demand for Pedro’s premium olive oil at different prices.




	
a  Draw the demand curve.


	
b  Calculate the price elasticity of demand when the price rises from £8 to £10.


	
c  Calculate the price elasticity of demand when the price rises from £6 to £8.


	
d  Calculate the price elasticity of demand when the price rises from £4 to £6.





Table 2.3 Demand for Pedro’s premium olive oil








	Price (£)

	10

	8

	6

	4

	2






	Quantity demanded (bottles per week)

	20

	40

	60

	80

	100
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The income elasticity of demand


Elasticity is a measure of the sensitivity of a variable to changes in another variable. In the same way as the price elasticity of demand is determined, an elasticity measure can be calculated for any other influence on demand or supply. Income elasticity of demand (YED) is therefore defined as:
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The YED measures the extent to which the demand for a good or service will change in response to a change in consumer incomes. The size and direction of the change in demand will depend upon how consumers perceive the good or service.


Unlike the price elasticity of demand, the income elasticity of demand may be either positive or negative. Remember the distinction between normal and inferior goods? For normal goods the quantity demanded will increase as consumer income rises, whereas for inferior goods the quantity demanded will tend to fall as income rises. Thus, for normal goods the YED will be positive, whereas for inferior goods it will be negative.


For normal goods, the size of the elasticity indicates the extent to which a good is regarded as a necessity. A necessity is a good with a YED that is positive but less than 1, as the quantity demanded tends to rise less than proportionately with income, such that consumers spend a lower proportion of their income on it as income rises.


Suppose you discover that the YED for cheese is 0.2. How do you interpret this number? If consumer incomes were to increase by 10%, the demand for cheese would increase by 10 × 0.2 = 2%. This example of a normal good may be helpful information for cheese sellers: if they know that consumer incomes are rising over time, they can expect demand to rise as well. Notice that this value of the YED implies that cheese is a necessity, as demand is income inelastic.


In some cases, the YED may be very strongly positive. For example, suppose that the YED for smartphones is +2. This implies that the quantity demanded of such phones will increase by 20% for every 10% increase in incomes. An increase in income is encouraging people to devote more of their incomes to this product, which increases its share in total expenditure. Such a good is referred to as a luxury good. In this case, demand is income elastic.
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Key terms


income elasticity of demand (YED) a measure of the sensitivity of quantity demanded to a change in consumer incomes


necessity a good for which the income elasticity of demand is positive, and less than 1, such that as income rises, consumers spend proportionally less on the good


luxury good one for which the income elasticity of demand is positive, and greater than 1, such that as income rises, consumers spend proportionally more on the good
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On the other hand, if the YED for coach travel is −0.3, that means that a 10% increase in consumer incomes will lead to a 3% fall in the demand for coach travel — perhaps because more people are travelling by car or train. In this instance, coach travel would be regarded as an inferior good.


When interpreting the YED in this way, notice that not all consumers will view goods in the same way. A good that is regarded as a luxury by some people (such as a second car) might be viewed differently by wealthy households. Table 2.4 summarises the ranges of the YED.


Table 2.4 Values of the YED








	
YED value

	Description










	Below −1

	Income-elastic inferior good






	Between −1 and 0

	Income-inelastic inferior good






	0

	No relationship between income and quantity demanded






	Between 0 and +1

	Income-inelastic normal good






	Greater than +1

	Income-elastic normal good — also known as a luxury good
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Exercise 2.5


Calculate the income elasticity of demand in each of the following circumstances. In each case, assume that consumer income rises by 5%.




	
a  Quantity demanded changes from 150 to 165.


	
b  Quantity demanded changes from 80 to 78.


	
c  Quantity demanded changes from 100 to 102.


	
d  Quantity demanded changes from 400 to 320.


	
e  Quantity demanded stays at 600.
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Test yourself 2.9


What would be the value of the YED if a 5% increase in consumer income leads to a 10% fall in quantity demanded?
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Cross elasticity of demand


Another useful measure is the cross elasticity of demand (XED). This is helpful in revealing the interrelationships between goods. Again, this measure may be either positive or negative, depending on the relationship between the goods. It is defined as:
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Key term


cross elasticity of demand (XED) a measure of the sensitivity of quantity demanded of a good or service to a change in the price of some other good or service
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If the XED is seen to be positive, it means that an increase in the price of good Y leads to an increase in the quantity demanded of good X. For example, an increase in the price of apples may lead to an increase in the demand for pears. Here apples and pears are regarded as substitutes for each other; if one becomes relatively more expensive, consumers will switch to the other. A high value for the XED indicates that two goods are very close substitutes. This information may be useful in helping a firm to identify its close competitors.


On the other hand, if an increase in the price of one good leads to a fall in the quantity demanded of another good, this suggests that they are likely to be complements. The XED in this case will be negative. An example of such a relationship would be that between coffee and sugar, which tend to be consumed together. If the XED were seen to be zero, this would indicate that the goods concerned were unrelated — neither substitutes nor complements. Table 2.5 summarises the ranges of the XED.


Table 2.5 Values of the XED








	
XED value

	Description










	Below −1

	Strong complement






	Between −1 and 0

	Weak complement






	0

	Unrelated






	Between 0 and +1

	Weak substitute






	Greater than +1

	Strong substitute
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Test yourself 2.10


If the XED for a good is negative, would this suggest that the goods are substitutes or complements?
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Exercise 2.6


Calculate the cross elasticity of demand in each of the following circumstances. In each case, assume that the price of another good rises by 15%.




	
a  Quantity demanded changes from 200 to 260.


	
b  Quantity demanded changes from 400 to 310.


	
c  Quantity demanded changes from 500 to 560.


	
d  Quantity demanded changes from 50 to 47.


	
e  Quantity demanded stays at 300.
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Using elasticities


The various elasticity measures can be useful to firms and to the government as part of their decision making. For example, suppose you are responsible for choosing the price to charge for a product sold by your firm. The PED will be informative about how buyers of the good are likely to respond to a price change. If you know they will be sensitive to a price increase, you might hesitate about raising price because this would affect revenues. Furthermore, the YED will help to forecast changing demand if real incomes are increasing, or if the economy is heading into a recession. The XED helps in anticipating changes in demand if the prices of other products are changing.


From the government perspective, imposing an indirect tax will raise the price and lead to a fall in demand, so knowing the PED helps to forecast the tax revenues expected. This is explored in Chapter 8. Introducing a subsidy would reduce the selling price of a good, and knowing the PED allows the government to assess the impact of such a move.
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Summary: income and cross elasticities of demand




	
•  The income elasticity of demand (YED) measures the sensitivity of quantity demanded to a change in consumer incomes. It serves to distinguish between normal, luxury and inferior goods.


	
•  Demand is income inelastic when the YED is less than 1 and income elastic when the YED is greater than 1.


	
•  The cross elasticity of demand (XED) measures the sensitivity of the quantity demanded of one good or service to a change in the price of some other good or service. It can serve to distinguish between substitutes and complements.
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Economics in the real world 2.1


Burgers


The fast-food and takeaway sector has been a feature of the UK since Charles Dickens referred to a ‘fried fish warehouse’ in Oliver Twist in 1839. In 1910, it was thought that there were 25,000 chippies in Britain, rising to 35,000 in 1929.


The fast-food sector has changed enormously since then, becoming a firmly entrenched part of British life, although the number of chippies fell to only 10,000 by 2009, serving some 229 million fried fish takeaways. But by that time, other products had come onto the scene, with 749 million burgers being served, and by the mid-2010s, McDonald’s had 1,249 outlets in the UK.


In recent years, there have been changes in the market environment. The government has run a number of campaigns in an attempt to combat a perceived problem with obesity, especially among younger generations. At the same time, people’s incomes have risen, albeit more slowly during the recession and slow recovery of the early 2010s. There have been social changes too, with many workers in the service industries feeling pressures on their time.


There has also been a rise in alternative sources of fast food, with pre-prepared sandwiches and wraps being readily available, and delivery service firms increasing in number, a trend that accelerated substantially during the lockdowns that occurred during the COVID-19 pandemic. This trend was reflected in the growth in popularity of delivery firms such as Deliveroo and Just Eat. During the pandemic, even some Michelin-starred restaurants found ways of having fine dining delivered to your doorstep.


Follow-up questions




	
a  Which of the conditions of demand would be affected by government campaigns about healthy eating?


	
b  How would you expect a rise in consumer incomes to affect the demand for fast food?


	
c  How would you expect companies like McDonald’s to respond to the rise of competitors such as Gourmet Burger Kitchen and other changes to market conditions?
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3 The nature of supply



1.2.4, 1.2.5





The previous chapter introduced you to the demand curve. The other key component of the demand and supply model is, of course, supply. For any market transaction, there are two parties, buyers and sellers. The question this chapter considers is what determines the quantity that sellers wish to supply to the market.
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In this chapter


After studying this chapter, you should:




	
•  be familiar with the notion of the supply of a good or service


	
•  be aware of the relationship between the supply of a good and its price in a competitive market


	
•  understand what is meant by the supply curve and the factors that influence its shape and position


	
•  be able to distinguish between shifts of the supply curve and movements along it


	
•  be aware of the effect of taxes and subsidies on the supply curve


	
•  understand what is meant by the price elasticity of supply
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Supply


In discussing demand, the focus of attention was on consumers, and on their willingness to pay for goods and services. In thinking about supply, attention switches to firms, as it is firms that take decisions about how much output to supply to the market. It is important at the outset to be clear about what is meant by a ‘firm’. A firm exists to organise production: it brings together various factors of production, and organises the production process in order to produce output.
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Key terms


supply the quantity of a good or service that producers are willing and able to sell at any given price in a given period of time


firm an organisation that brings together factors of production in order to produce output
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There are various forms that the organisation of a firm can take. A firm could be a sole proprietor: probably a small business, such as a newsagent, where the owner of the firm also runs the firm. A firm could be in the form of a partnership — for example, a dental practice in which profits (and debts) are shared between the partners in the business. Larger firms may be organised as private or public joint stock companies, owned by shareholders. The difference between private and public joint stock companies is that the shares of a public joint stock company are traded on the stock exchange, whereas this is not the case with a private company.


In order to analyse how firms decide how much of a product to supply, it is necessary to make an assumption about what it is that firms are trying to achieve. A common assumption under rational choice is that they aim to maximise their profits, where ‘profits’ are defined as the difference between a firm’s total revenue and its total costs.
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Test yourself 3.1


What assumption is often made by economists about the objective that underpins firms’ decisions under rational decision making?
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The supply curve


As discussed in Chapter 2, the demand curve shows a relationship between quantity demanded and the price of a good or service. A similar relationship between the quantity supplied by firms and the price of a good can be identified in relation to the behaviour of firms in a competitive market — that is, a market in which individual firms cannot influence the price of the good or service that they are selling, because of competition from other firms.


As with the demand curve, there is a distinction between the supply curve of an individual firm, and the supply curve for a market. The individual supply curve shows the amount that an individual firm is willing and able to supply at any given price in a given period of time. The market supply curve shows the total amount of a product that firms are willing and able to supply at any given price in a given time period.


In such a market it may well be supposed that firms will be prepared to supply more goods at a high price than at a lower one (ceteris paribus), as this will increase their profits. The supply curve illustrates how much the firms in a market will supply at any given price, as shown in Figure 3.1. As firms are expected to supply more goods at a high price than at a lower price, the supply curve will be upward sloping, reflecting this positive relationship between quantity and price.
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Figure 3.1 A supply curve
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Key terms


competitive market a market in which individual firms cannot influence the price of the good or service they are selling, because of competition from other firms


supply curve a graph showing the quantity supplied at any given price
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Quantitative skills 3.1


Interpreting lines on a graph


Be clear about why the upward-sloping nature of the supply curve reflects the fact that firms are willing to supply more output at a higher price, whereas the downward-sloping nature of the demand curve reflects the way that consumers are willing to purchase more of a good when the price is relatively low. This is bound up with the way in which we interpret the supply (or demand) curve. In Figure 3.1, think about how firms behave when the price is relatively low — that is, when you pick a price low down on the vertical axis. The quantity that firms are willing to supply is read off from the supply curve — and is relatively low. However, if you read off the quantity from a higher price level, the quantity is also higher. You need to become accustomed to interpreting lines and curves on a diagram in this way. The shape of the line (or curve) shows the extent to which firms respond at different prices.
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Test yourself 3.2


Explain why firms in a competitive market will be prepared to supply more output at a higher price, ceteris paribus.
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A movement along the supply curve


A change in the price of a good will induce firms to change their supply decision. For example, consider Figure 3.2. Suppose that initially the price of the good is at P0. Firms will choose to supply the quantity Q0 of the good. Ceteris paribus, if the price then falls to P1, firms will find it less profitable to supply the good, and will reduce their supply, causing a movement along the supply curve (a contraction of supply) to a new quantity at Q1.
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Figure 3.3 A movement along the supply curve
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Test yourself 3.3


Under what conditions would there be a movement down along the supply curve?
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Exercise 3.1


Table 3.1 shows how the supply of trinkets varies with their price. Draw the supply curve.


Table 3.1 The supply of trinkets








	Price (£)

	100

	90

	80

	70

	60

	50

	40

	30

	20

	10






	Quantity

	98

	95

	91

	86

	80

	70

	60

	50

	35

	18
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Notice that the focus of the supply curve is on the relationship between quantity supplied and the price of a good in a given period, ceteris paribus — that is, holding other things constant. As with the demand curve, there are other factors affecting the quantity supplied. These other influences on supply (the conditions of supply) will determine the position of the supply curve: if any of them changes, the supply curve can be expected to shift.










What influences supply?


We can identify the important influences on the quantity that firms will be prepared to supply to the market at any given price:




	
•  production costs


	
•  the technology of production


	
•  taxes and subsidies


	
•  the price of related goods


	
•  firms’ expectations about future prices


	
•  the number of firms operating in the market
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Study tip


Be sure that you are familiar with these factors that can influence the quantity that firms will be prepared to supply to the market at any given price.
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Costs and technology


If firms are aiming to maximise profits, an important influence on their supply decision will be the costs of production that they face. In order to produce output, firms need to use inputs of the factors of production — labour, capital, land and so on. If the cost of those inputs increases, firms will in general be expected to supply less output at any given price. The effect of this is shown in Figure 3.3(a), where an increase in production costs induces firms to supply less output at each price. The curve shifts from its initial position at S0 to a new position at S1. For example, suppose the original price was £10 per unit; before the increase in costs, firms would have been prepared to supply 100 units of the product to the market. An increase in costs of £6 per unit that shifted the supply curve from S0 to S1 would mean that, at the same price, firms would now supply only 50 units of the good. Notice that the vertical distance between S0 and S1 is the amount of the change in cost per unit.
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Synoptic link


Chapter 1 introduced the factors of production and their importance to firms.
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In contrast, if a new technology of production is introduced, which means that firms can produce more cost-effectively, this could have the opposite effect, shifting the supply curve to the right. This is shown in Figure 3.3(b), where improved technology induces firms to supply more output at any given price, and the supply curve shifts from its initial position at S0 to a new position at S1. Thus, if firms in the initial situation were supplying 50 units with the price at £10 per unit, then a fall in costs of £6 per unit would induce firms to increase supply to 100 units (if the price remained at £10).
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Figure 3.3 The supply curve shifts if production costs change













Taxes and subsidies


Suppose the government imposes a sales tax such as VAT on a good or service. The price paid by consumers will be higher than the revenue received by firms, as the tax has to be paid to the government. This means that firms will (ceteris paribus) be prepared to supply less output at any given market price. Again, the supply curve shifts to the left. This is shown in panel (a) of Figure 3.4, which assumes a fixed per unit tax. Such a tax is known as a specific tax. The supply curve shifts, as firms supply less at any given market price. On the other hand, if the government pays firms a subsidy to produce a particular good, this will reduce their costs, and induce them to supply more output at any given price. The supply curve will then shift to the right, as shown in panel (b).
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Figure 3.4 The effects of taxes and subsidies on supply
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Synoptic link


The effect of an indirect tax is discussed in more detail in Chapter 5, after we have developed the demand and supply model.
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Prices of other goods


It was shown earlier that from the consumers’ perspective, two goods may be substitutes for each other, such that if the price of one good increases, consumers may be induced to switch their consumption to substitute goods. Similarly, there may be substitution on the supply side. A firm may face a situation in which there are alternative uses to which its factors of production may be put: in other words, it may be able to choose between producing a range of different products. A rise in the price of a good raises its profitability, and therefore may encourage a firm to switch production from other goods. This may happen even if there are high switching costs, provided the increase in price is sufficiently large. For example, a change in relative prices of potatoes and organic swedes might encourage a farmer to stop planting potatoes and grow organic swedes instead.


In other circumstances, a firm may produce a range of goods jointly. Perhaps one good is a by-product of the production process of another. For example, a sheep farmer can produce both wool and meat from the sheep. An increase in the price of one of the goods may mean that the firm will produce more of both goods. This notion of joint supply is similar to the situation on the demand side where consumers regard two goods as complements.







Expected prices


Because production takes time, firms often take decisions about how much to supply on the basis of expected future prices. Indeed, if their product is one that can be stored, there may be times when a firm will decide to allow stocks of a product to build up in anticipation of a higher price in the future, perhaps by holding back some of its production from current sales. In some economic activities, expectations about future prices are crucial in informing supply decisions because of the length of time needed in order to increase output. For example, a building firm may see that house prices are increasing in a certain area, but it cannot supply new houses immediately because they take time to build.







The number of firms in the market


As the market supply curve is the sum of the supply curves of individual firms, if more firms join the market, the market supply curve will shift to the right. Similarly, if some firms go out of business, the market supply curve will shift to the left.
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Wine producers have to take supply decisions based on expected future prices
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Test yourself 3.4


If a producer finds that the market price of its product has increased, would this induce an extension of or an increase in supply?
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Market power


In some markets, firms may be able to use market power in order to influence the supply of a commodity. For example, think about the oil industry. Here, the oil-exporting nations work together as a cartel to influence the quantity supplied. One motivation for this is to influence price and hence the profits of the members of the cartel.
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Key term


cartel an agreement between firms in a market on price and output with the intention of maximising their joint profits
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Movements along and shifts of the supply curve: a reminder


As with the demand curve, it is important to remember that there is a distinction between movements along the supply curve and shifts of the supply curve. If there is a change in the market price, this induces a movement along the supply curve (an extension or contraction). After all, the supply curve is designed to reveal how firms will react to a change in the price of the good. For example, in Figure 3.5, if the price is initially at P0 firms will be prepared to supply the quantity Q0, but if the price then increases to P1 this will induce a movement along the supply curve as firms increase supply to Q1.


In contrast, as seen in the previous section, a change in any of the other conditions of supply will induce a shift of the whole supply curve, as this affects the firm’s willingness to supply at any given price.
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Synoptic link


The operation of cartels is discussed more fully in Chapter 20.
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Figure 3.5 A movement along a supply curve in response to a price change












[image: ]


Test yourself 3.5


Under what conditions would there be a contraction of supply?
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Study tip


As with the discussion of demand, it is important to be clear about the difference between a shift of the supply curve and a movement along it. Again, the convention is adopted to use an extension (or contraction) of supply for a movement along the supply curve, and to use an increase (or decrease) to denote a shift of the curve. It is also helpful to distinguish between those factors that affect the position of the supply curve and those that affect the position of the demand curve. Don’t forget that the factors that affect the position of the supply curve are:




	
•  production costs


	
•  the technology of production


	
•  taxes and subsidies


	
•  the price of related goods


	
•  firms’ expectations about future prices


	
•  the number of firms in the market
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Exercise 3.2


Draw supply curves for each of the following situations to show whether there is a shift of the supply curve or a movement along it:




	
a  the supply of accountancy services following the introduction of more efficient computer software


	
b  the supply of a good following an increase in taxes on sales


	
c  the supply of ice cream following a rise in its selling price during a hot summer


	
d  the supply of tennis balls after several firms in the market go bankrupt
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Exercise 3.3


For each of the following, decide whether the demand curve or the supply curve will move, and in which direction:




	
a  Consumers are convinced by arguments about the benefits of organic vegetables.


	
b  A new process is developed that reduces the amount of inputs that firms need in order to produce bicycles.


	
c  There is a severe frost in Brazil that affects the coffee crop.


	
d  The government increases the rate of value added tax.


	
e  Real incomes rise.


	
f  The price of tea falls: what happens in the market for coffee?


	
g  The price of sugar falls: what happens in the market for coffee?
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Summary: the supply curve




	
•  Other things being equal, firms in a competitive market can be expected to supply more output at a higher price.


	
•  The supply curve traces out this positive relationship between price and quantity supplied.


	
•  Changes in the costs of production, technology, taxes and subsidies, or the prices of related goods may induce shifts of the supply curve, with firms being prepared to sell more (or less) output at any given price.


	
•  Expectations about future prices may affect current supply decisions.
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Price elasticity of supply


In the previous chapter, the concept of elasticity was introduced as a way of measuring the sensitivity of quantity demanded to any of the components that affect demand. As elasticity is a measure of sensitivity, its use need not be confined to influences on demand. It can also be turned to evaluating the sensitivity of quantity supplied to a change in its determinants — price in particular.


It has been argued that the supply curve is likely to be upward sloping, so the price elasticity of supply can be expected to be positive. In other words, an increase in the market price will induce firms to supply more output to the market. The price elasticity of supply (PES) is defined as:
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Key term


price elasticity of supply (PES) a measure of the sensitivity of quantity supplied of a good or service to a change in the price of that good or service


[image: ]












[image: ]


Quantitative skills 3.2


Calculating the elasticity of supply


Suppose that the price of a good increases from £10 to £12, and that in response, firms increase the quantity supplied from 2,000 units to 2,200 units. What is the price elasticity of supply?


To find out, we need first to calculate the percentage changes in price and quantity. Price has changed by 100 × 2/10 = 20%; the quantity supplied has changed by 100 × 200/2,000 = 10%. The price elasticity of supply is therefore 10/20 = 0.5.
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The interpretation of the elasticity of supply is straightforward. If the PES is 0.8, an increase in price of 10% will encourage firms to supply 8% more. As with the PED, if the elasticity is greater than 1, supply is referred to as being relatively elastic, whereas if the value is between 0 and 1, supply is considered relatively inelastic. Unit elasticity occurs when the PES is exactly 1, so that a 10% increase in price induces a 10% increase in quantity supplied. Supply is price elastic when the PES is greater than 1, and price inelastic when the PES is less than 1.
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Key terms


price-elastic supply where the PES is greater than 1


price-inelastic supply where the PES is less than 1
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The value of the price elasticity of supply will depend on how willing and able firms are to respond to a change in price. If a firm is currently running below full capacity, then it may be able to respond quickly to an increase in price. Similarly, if the firm is holding stockpiles of goods ready to be sold, then it may be able to respond quickly to the increase in the selling price of the good. On the other hand, if the firm needs to pay overtime to its workers, or to rent new buildings or hire additional machinery in order to expand production, then the increase in costs may not justify responding to the increase in price. The willingness of the firm to expand output may also depend on whether the firm expects the change in price to be permanent or temporary.






[image: ]


Test yourself 3.6


Why is the PES a positive number?
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The short run and the long run
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It often takes time for firms to adjust to a changing market environment, especially if this requires the hiring of more skilled labour








An issue that arises in many areas of economic analysis is the importance of time. For example, economic agents often need time to adjust to a changing market environment. A higher price may induce firms to want to supply more of a good, but how quickly will they change? A firm may choose to wait in order to see whether a change is permanent or temporary. Even if a firm wants to change immediately, it may take time to adjust, especially if it needs to obtain new machinery or other equipment in order to expand, or if it needs to hire more skilled labour. This provides the important distinction between the short run and the long run.
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Key terms


short run the period in which at least one factor of production is fixed in supply


long run the period in which all factors of production are flexible in supply
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Figure 3.6 Short- and long-run supply








It is important to realise that it may be more feasible for firms to change their supply decision in the long run than in the short run. For example, if firms are operating close to the capacity of their existing plant and machinery or factory space, they may be unable to respond to an increase in price, at least in the short run. So here again, supply can be expected to be more elastic in the long run than in the short run. Figure 3.6 illustrates this. In the short run, firms may be able to respond to an increase in price only in a limited way, and so supply may be relatively inelastic, as shown by Ss in the figure. An important issue here is whether the nature of the good is such that it is possible for firms to hold stocks of the good, which might allow them to expand sales in the short run even if it takes time to expand production. The extent to which goods can be stored in this way will reflect the nature of the good concerned: for example, depending on whether or not the good is perishable, or costly to store.
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Synoptic link


The distinction between the short run and the long run is more fully discussed in Chapter 18, when we explore how producers face costs that may be fixed in the short run.
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Test yourself 3.7


Will a firm’s supply curve be steeper or shallower in the long run as compared with the short run?
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However, firms can become more flexible in the long run by installing new machinery or building new factories, so supply can then become more elastic, moving to Sl. When analysing the theory of the firm, economists define the short run and the long run in this way, seeing the short run as a period in which the firm is not able to vary its inputs of all factors of production, and the long run as the period in which this becomes possible. In particular, it is often supposed that capital inputs are relatively difficult to vary in the short run, whereas firms may be more able to vary the amount of labour input.







Two special cases


There are two limiting cases of supply elasticity. For some reason, supply may be fixed such that, no matter how much price increases, firms will not be able to supply any more. For example, it could be that a certain amount of fish is available in a market, and however high the price goes, no more can be obtained. If the fishermen know that the fish they do not sell today cannot be stored for another day, they have an incentive to sell, however low the price goes. In this case, there is perfectly inelastic supply. At the other extreme is perfectly elastic supply, where firms would be prepared to supply any amount of the good at the going price.
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Key terms


perfectly inelastic supply a situation in which firms can supply only a fixed quantity, so cannot increase or decrease the amount available: elasticity of supply is zero


perfectly elastic supply a situation in which firms will supply any quantity of a good at the going price: elasticity of supply is infinite
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These two possibilities are shown in Figure 3.7. Here Si represents a perfectly inelastic supply curve: firms will supply Qi whatever the price, perhaps because that is the amount available for sale. Supply here is vertical. At the opposite extreme, if supply is perfectly elastic then firms are prepared to supply any amount at the price Pe, and the supply curve is given by the horizontal line Se.
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Figure 3.7 Perfectly elastic and inelastic supply








Table 3.2 summarises the values of the PES.


Table 3.2 Values of the PES








	
PES value

	Description










	0

	Perfectly inelastic supply






	Between 0 and +1

	Inelastic supply






	Greater than +1

	Elastic supply






	Infinity

	Perfectly elastic supply
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Study tip


Be careful not to confuse the price elasticity of supply (PES) with the price elasticity of demand (PED), as they relate to different sides of the market and are determined by different influences. The PES is about how producers respond to price, whereas the PED is about how consumers respond. Make sure you can list the determinants of each.
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Exercise 3.4


Imagine the following scenario. You are considering a pricing strategy for a bus company. The economy is heading into recession, and the company is running at a loss. Your local rail service provider has announced an increase in rail fares. How (if at all) do you use the following information concerning the elasticity of bus travel with respect to various variables to inform your decision on price? Do you raise or lower price?








	

	
•  price elasticity of demand




	−1.58






	

	
•  income elasticity of demand




	−2.43






	

	
•  cross-price elasticity of demand with respect to rail fares




	+2.21






	

	
•  your price elasticity of supply




	+1.15
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Summary: the elasticity of supply




	
•  The price elasticity of supply (PES) measures the sensitivity of the quantity supplied to a change in the price of a good or service.


	
•  The price elasticity of supply can be expected to be greater in the long run than in the short run, as firms have more flexibility to adjust their production decisions in the long run.
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Economics in the real world 3.1


Energy


Energy prices became highly contentious in the early months of 2022.


In 2019, a price cap on energy prices was introduced by the government, calculated by the regulator Ofgem. This was intended to protect customers who did not switch their energy provider or tariff. Ofgem estimated that more than half of consumers had never switched supplier or had switched only once, and were on more expensive default tariffs as a result. The cap was to ensure that the tariffs paid by such customers were fair and reflective of costs. The cap was to be reviewed every 6 months.


During 2021, energy suppliers found that their costs were rising faster than had been anticipated. A cold winter in Europe in 2020 put pressure on supply, and during 2021 wholesale prices of gas rose rapidly. High demand for liquefied natural gas in Asia reduced supply to Europe, adding to the pressure on prices. Winds were also relatively light in this period, so the supply of renewable energy was affected.


The trade association Oil and Gas UK reported that gas prices increased by 250% between January and September 2021. However, energy suppliers facing these high cost increases could not raise their selling prices because of the price cap, and during the final months of 2021 several energy providers closed down.


In response to these growing pressures on the market, the price cap was raised in April 2022. The impact on customers was substantial, with an estimated 22 million households facing significant increases in their payments for gas and electricity. For some customers, this could mean an increase of more than 50% in the cost of energy.


These increases came at a time when the cost of living was also being affected by higher prices for food and petrol, because supply chains were being affected by the aftermath of the COVID-19 pandemic, Brexit and the war in Ukraine. Further increases were to follow at 6-monthly intervals.


Follow-up questions




	
a  Would you expect the demand for energy to be price elastic or price inelastic?


	
b  Identify factors in the passage which would affect the supply curve for energy.


	
c  Given the factors you found in question (b), how would you expect the supply curve to change?


	
d  Do you think that government intervention to control prices would be an effective answer to the problem?
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Economics in the real world 3.2


Fish


Imagine a remote island in the South Seas. Some of the islanders own canoes which they use to go fishing, selling their catch on the beach when they return each day. Some islanders only go fishing occasionally, as they find it more worthwhile to spend their time on other activities. The island has no electricity, so there is no way of storing the fish that are caught — if they are not consumed on the day of the catch, they must be thrown away.


The market for fish on the island is limited by the size of the population. Fortunately for the fishermen, the islanders enjoy fish, and regard it as an important part of their diet, although they also grow vegetables and raise goats and chickens. Fruit and coconuts are also abundant.


Follow-up questions




	
a  What would you expect to be the nature of the price elasticity of supply in the short run (that is, on any given day)?


	
b  Suppose that, on one particular day, fishing conditions are so good that all fishermen return with record catches. How would this affect the price of fish?


	
c  How might the situation in (b) affect the supply of fish on the following day?


	
d  How would you expect the supply of fish to be affected by the invention of a new style of canoe that makes it easier to catch fish?


	
e  How would the market be affected if this new-style canoe also enabled fish to be traded with a neighbouring island?
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Exam-style questions


1.2 Demand, supply and elasticity


Short-answer questions




	
1  During the cost-of-living crisis in 2022, the average price of a litre of milk went up from 46p to 56p. Following the rising price of milk, a local supermarket experienced a 1% fall in the demand for tea in its stores.



	
a  Given the information above, calculate the cross-price elasticity of demand for milk and tea in the local supermarket. You are advised to show your workings.

(2)







In recent years there has been an increase in the varieties of dairy-free milk available in supermarkets, such as coconut milk and soya milk.




	
b  Explain why a rational consumer may decide to switch to dairy-free milk following a rise in the price of dairy milk.

(2)




	
c  A consumer experienced diminishing marginal utility when they drank a second pint of milk. It must be true therefore that:

(1)




	
A  The first pint of milk provided less utility than the second pint of milk


	
B  The first pint of milk reduced the consumer’s total utility


	
C  second pint of milk provided less utility than the first pint of milk


	
D  The second pint of milk reduced the consumer’s total utility












	
2  Brazil is a major producer of soya beans.



	
a  Which of the following would cause an inward shift in the supply curve for soya beans in Brazil?

(1)




	
A  A decrease in subsidies for soya bean producers


	
B  Good crop yields for soya bean producers


	
C  A decrease in costs of production for soya bean farmers


	
D  Entry of soya beans producers into the market










The price elasticity of supply for soya beans increases from +0.2 in the short run to +0.6 in the long run.




	
b  With reference to the PES figures provided, explain why the price elasticity of supply of soya beans differs in the long run.

(4)












Data response question: Netflix


Table 1 shows the estimated price elasticity of demand for Netflix in the UK.


Table 1 PED estimates for UK Netflix








	2019

	2020










	−0.60

	−0.13









Source: www.consultancy.uk/news/24986/covid-19-presents-netflix-with-chance-to-hike-prices


Extract A: Growth of Netflix


Netflix, the online streaming platform, is one business that had a good pandemic. With countries across the globe putting their citizens into national lockdowns, people had the time to binge through popular shows like Tiger King or The Queen’s Gambit. Netflix added millions of increasingly loyal subscribers, with many customers deciding it was something they simply could not live without in 2020.


However, at the start of 2022, Netflix lost subscribers globally for the first time in a decade, and further falls in demand are likely for the rest of the year. The number of global subscribers fell from 221.8 million to 221.6 million.


Netflix increased its subscription price in the UK and the USA to help fund improvements in its content. This higher price comes at a time when many households are seeing their real incomes fall. Other factors identified by the company for the fall in subscribers include rising competition from other streaming platforms, such as Apple TV, more people sharing their accounts between households and slowing rollout of broadband.




	
3  a  With reference to Table 1 and Extract A, explain one reason why the price elasticity of demand for Netflix changed between 2019 and 2020.

(5)




	    b  Assess the likely factors causing a fall in demand for Netflix subscriptions.

(10)







Essay question




	
4  According to the Office for Budget Responsibility, UK real incomes are expected to fall by 2.2% in 2022. This would represent the largest decline in living standards since records began in 1956.

Evaluate the likely negative microeconomic consequences of such a fall in UK real incomes. Refer to industries of your choice in your answer.


(25)







[image: ]
























4 How markets work: price determination and the price mechanism



1.2.6, 1.2.7, 1.2.8





The previous chapters introduced the notions of demand and supply, and it is now time to bring these together in order to meet the key concept of market equilibrium. The model can then be further developed to see how it provides insights into how markets operate. Indeed, it is also time to take a wider view of the process of resource allocation within society. An important question is whether markets can be relied on to guide this process, or whether there are times when markets will fail. This chapter begins to address this by examining how prices can act as market signals to guide resource allocation.
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In this chapter


After studying this chapter, you should:




	
•  understand the notion of equilibrium and its relevance in the demand and supply model


	
•  be aware of how market equilibrium changes in the face of shifts in demand and supply


	
•  have an overview of how the price mechanism works to allocate resources


	
•  be able to see how prices provide incentives to producers


	
•  understand the meaning and significance of consumer surplus


	
•  understand the meaning and significance of producer surplus


	
•  be aware of the effects of the entry and exit of firms into and out of a market


	
•  be familiar with the way in which resources are allocated in a free market economy
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Market equilibrium


Demand and supply curves begin to tell us about the behaviour of consumers and firms, but the power of the demand and supply model comes to the fore when we bring the curves together. Figure 4.1 shows the demand for and supply of butter.
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Figure 4.1 Bringing demand and supply together








Suppose that the price were to be set relatively high (above P*). At such a price, firms wish to supply lots of butter to the market. However, consumers are not very keen on butter at such a high price, so demand is not strong. Firms now have a problem: they find that their stocks of butter are building up. What has happened is that the price has been set at a level that exceeds the value that most consumers place on butter, so they will not buy it. There is excess supply. The only thing that the firms can do is to reduce the price in order to clear their stocks. The fall in price is seen as a movement down along the supply curve. In addition, as price falls there is a movement up along the demand curve, as some consumers buy more butter at the lower price. Through this process the market moves towards equilibrium until the excess supply has been eliminated.
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Key term


excess supply a situation in which the quantity that firms are willing and able to supply exceeds the quantity that consumers wish to demand at the going price
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Synoptic link


The demand curve was explained in Chapter 2 and supply was discussed in Chapter 3.
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Suppose they now set their price relatively low (below P*). Now it is the consumers who have a problem, because they would like to buy more butter at the low price than firms are willing and able to supply. There is excess demand. Some consumers may offer to pay more than the going price in order to obtain their butter supplies, and firms realise that they can raise the price. Again there will be an adjustment through movements along the demand and supply curve until the excess demand is eliminated.


How will it all end? When the price settles at P* in Figure 4.1, there is a balance in the market between the quantity that consumers wish to demand and the quantity that firms wish to supply, namely Q*. This is the market equilibrium. In a free market the price can be expected to converge on this equilibrium level, through movements along both demand and supply curves.
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Key terms


excess demand a situation in which the quantity that consumers wish to demand at the going price exceeds the quantity that firms are willing and able to supply


market equilibrium a situation that occurs in a market when the price is such that the quantity demanded by consumers is exactly balanced by the quantity supplied by firms
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Quantitative skills 4.1


Identifying and interpreting an intersection on a graph


You will meet many diagrams in economics where there are upward- and downward-sloping lines that intersect at some point. Such intersection points are almost always significant. In the case of demand and supply, the downward-sloping line represents demand, and the upward-sloping curve shows supply. Only at the point where the two lines meet are the decisions of consumers and firms mutually consistent. In other words, consumers are choosing to demand exactly the quantity that firms are willing and able to supply. The important question to explore is the mechanism that will lead to this equilibrium point. This in turn depends on the incentives facing economic agents if the starting point is away from the intersection point.
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Test yourself 4.1


How would you expect price to adjust when there is excess demand for a good in a competitive market?
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Exercise 4.1


Identify the equilibrium market price if demand and supply are as in Figure 4.2.
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Figure 4.2 What is the equilibrium price?
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Summary: market equilibrium




	
•  Bringing demand and supply together, you can identify the market equilibrium.


	
•  The equilibrium price is the unique point at which the quantity demanded by consumers is just balanced by the quantity that firms wish to supply.


	
•  In a free market, natural forces can be expected to encourage prices to adjust to the equilibrium level.
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Changes to market equilibrium


You have seen the way in which a market moves towards equilibrium between demand and supply through price adjustments and movements along the demand and supply curves. Now consider what happens if there is a change in one of the conditions of demand or supply. What will then happen to the market equilibrium?
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Test yourself 4.2


What factors could affect the position of the demand curve?
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A market for dried pasta


Begin with a simple market for dried pasta, a basic staple foodstuff obtainable in any supermarket. Figure 4.3 shows the market in equilibrium. D0 represents the demand curve in this initial situation, and S0 is the supply curve. The market is in equilibrium with the price at P0, and the quantity being traded is Q0. It is equilibrium in the sense that pasta producers are supplying just the amount of pasta that consumers wish to buy at that price. This is the ‘before’ position. Some experiments will now be carried out with this market by disturbing the equilibrium.
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Figure 4.3 A market for dried pasta










A change in consumer preferences


Suppose that a study is published highlighting the health benefits of eating pasta, backed up with an advertising campaign. The effect of this is likely to be an increase in the demand for pasta at any given price. In other words, this change in consumer preferences will shift the demand curve to the right, as shown in Figure 4.4.


The market now adjusts to a new equilibrium, with a new price P1 and a new quantity traded at Q1. In this case, both price and quantity have increased as a result of the change in preferences. There has been an extension of supply to eliminate the excess demand.
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Changes in consumer preferences are just one factor affecting the market for dried pasta














A change in the price of a substitute


A second possibility is that there is a fall in the price of fresh pasta. This is likely to be a close substitute for dried pasta, so the probable result is that some former consumers of dried pasta will switch their allegiance to the fresh variety. This time the demand curve for dried pasta shifts in the opposite direction, as can be seen in Figure 4.5. Here the starting point is the original position, with market equilibrium at price P0 and a quantity traded of Q0. After the shift in the demand curve from D0 to D2, the market settles again with a price of P2 and a quantity traded of Q2. Both price and quantity traded are now lower than in the original position. In this case, there has been a contraction of supply in response to the excess supply.
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Figure 4.4 A change in consumer preferences for dried pasta
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Figure 4.5 A change in the price of a substitute for dried pasta
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Study tip


Economists use diagrams a lot to analyse how equilibrium is affected by external changes — in this case, a change in market conditions that induces a shift in the demand curve. Remember that practice makes perfect, so watch in the news for examples of events that are likely to affect a market, and draw demand and supply curves to analyse what is expected to happen next. For example, in early 2022 there was seen to be a UK shortage of sunflower oil (used for cooking) because much of the product was normally imported from Ukraine, so supplies were being interrupted by the invasion. What effect would this have on the market?
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An improvement in pasta technology


Next, suppose that a new pasta-making machine is produced, enabling dried pasta makers to produce at a lower cost than before. This technical advance reduces firms’ costs, and consequently they are willing to supply more dried pasta at any given price. The starting point is the same initial position, but now it is the supply curve that shifts — to the right. This is shown in Figure 4.6.
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Test yourself 4.3


What factors could affect the position of the supply curve?
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The new market equilibrium is now at price P3, which is lower than the original equilibrium, but the quantity traded is higher at Q3. There has been an extension of demand.







An increase in labour costs


Finally, suppose that pasta producers face an increase in their labour costs. Perhaps the Pasta Workers’ Union has negotiated higher wages, or the pasta producers have become subject to stricter health and safety legislation, which raises their production costs. Figure 4.7 starts as usual with equilibrium at price P0 and quantity Q0.


The increase in production costs means that pasta producers are prepared to supply less dried pasta at any given price, so the supply curve shifts to the left — to S4. This takes the market to a new equilibrium at a higher price than before (P4), but with a lower quantity traded (Q4). This time, there has been a contraction of demand to eliminate the excess demand.
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Figure 4.6 New pasta-making technology
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Figure 4.7 An increase in labour costs
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Test yourself 4.4


In a competitive market, suppose that the equilibrium price and quantity traded are both seen to increase. What shifts in the demand and supply curves could have taken place?
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Summary: analysing changes in market equilibrium




	
•  You can analyse the way in which markets respond to external shocks by comparing market equilibrium before and after a shock.


	
•  All you need to do is to figure out whether the shock affects demand or supply, and in which direction.


	
•  The size and direction of the shifts of the demand and supply curves determine the overall effect on equilibrium price and quantity traded.
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Exercise 4.2


For each of the following market situations, draw a demand and supply diagram, and see what happens to the equilibrium price and quantity. Explain your answers.




	
a  An increase in consumer incomes affects the demand for bus travel.


	
b  New regulations on environmental pollution force a firm making paint to increase outlay on reducing its emission of toxic fumes.


	
c  A firm of accountants brings in new, faster computers, which have the effect of reducing the firm’s costs.


	
d  An outbreak of bird flu causes consumers of chicken to buy burgers instead. What is the effect on both markets?
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Prices and resource allocation




The coordination problem


As Chapter 1 indicated, all societies face the fundamental economic problem of scarcity. Because there are unlimited wants but finite resources, it is necessary to take decisions on which goods and services should be produced, how they should be produced and for whom they should be produced. For an economy the size of the UK, there is thus an immense coordination problem. Another way of looking at this is to ask how consumers can express their preferences between alternative goods so that producers can produce the best mix of goods and services.
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Synoptic link


The problem of scarcity was explained in Chapter 1.
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In a completely free market economy, market forces are allowed to allocate resources. At the other extreme, in a centrally planned economy, the state plans and directs resources into a range of uses. In between there is the mixed economy. In order to evaluate these alternatives, it is necessary to explore how each of them operates. In a free market economy, prices play the key role; this is sometimes referred to as the laissez-faire approach to resource allocation.







Consumer surplus


Think a little more carefully about what the demand curve represents. Figure 4.8 shows the demand curve for smartphones. Suppose that the price is set at P* and quantity demanded is thus Q*. P* can be seen as the value that the last customer places on a smartphone. In other words, if the price were even slightly above P*, there would be one consumer who would choose not to buy: this individual will be referred to as the marginal consumer.
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Figure 4.8 Price as marginal benefit








To that marginal consumer, P* represents the satisfaction derived from consuming this good — it is the price that just reflects the consumer’s benefit from a smartphone, as it is the price that just induces them to buy. It is their willingness to pay for a smartphone.


In most markets, all consumers face the same prices for goods and services. This leads to an important concept in economic analysis. P* may represent the value of smartphones to the marginal consumer, but what about all the other consumers who are also buying smartphones at P*? They would all be willing to pay a higher price for a smartphone. Indeed, consumer A in Figure 4.8 would pay a very high price indeed, and thus values a smartphone much more highly than P*. When consumer A pays P* for a smartphone, they get a great deal, as they value the good so much more highly — as represented by the vertical black line on Figure 4.8. Consumer B also gains a surplus above their willingness to pay (the grey line).


If all these surplus values are added up, they sum to the total surplus that society gains from consuming smartphones. This is known as the consumer surplus, represented by the shaded triangle in Figure 4.9. It can be interpreted as the welfare that society gains from consuming the good, over and above the price that has to be paid for it.
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Key term


consumer surplus the value that consumers gain from consuming a good or service over and above the price paid
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Figure 4.9 Consumer surplus








Indeed, thinking of the society as a whole, we can think of the price P* as the benefit that society gains from consuming the last unit of the good. This can be described as the marginal social benefit (MSB) derived from consuming the good. The same argument could be made about any point along the demand curve, so the curve itself can be interpreted as the marginal social benefit to be derived from consuming smartphones.
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Key term


marginal social benefit (MSB) the additional benefit that society gains from consuming an extra unit of a good
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Quantitative skills 4.2


Interpreting areas on a graph


In using diagrams like Figure 4.9, it is important to be able to interpret areas on the graph as well as lines and positions. In this case, the area of interest is the total amount of consumer surplus.


Notice that letters are used to identify points on the diagram (in this case, the points are labelled P*, Q*, A, B and O).


The area under the demand curve up to the quantity sold (Q*) represents the total value of the good that is sold. In total, consumers spend an amount on this which is the price multiplied by the quantity sold, namely P* multiplied by Q*. In Figure 4.9 this is the area of the rectangle OP*BQ*. The surplus is the shaded triangle P*AB.
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Test yourself 4.5


Explain why consumer surplus can be interpreted as representing the welfare that society gains from consuming a good.
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Consumer surplus and price


There is a relationship between the size of consumer surplus and the price charged for a good. If the price of a good increases, this will reduce the overall size of consumer surplus, and affect the welfare that society receives from consuming the good. You can see this in Figure 4.10.
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Figure 4.10 Consumer surplus and price








When the price of the good is relatively low at OE, quantity demanded is OH, consumers spend the area OEFH, and they receive consumer surplus of AEF. However, if the price were to increase to OB, quantity demanded would fall to OG, spending would be the area OBCG, and consumer surplus would be lower than before, at ABC.


Suppose there is an increase in the price of cinema tickets. What Figure 4.10 indicates is that there will be some people who will not go to the cinema as frequently as before, and that those who do go at the higher price will receive less in the way of consumer surplus than if the price had remained at its original lower level. Welfare has fallen. A key question is the extent to which the quantity demanded will fall, which depends upon the shape of the demand curve.
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Exercise 4.3


Table 4.1 shows the price at which each of six consumers would be prepared to buy a good.


Table 4.1








	Consumer

	A

	B

	C

	D

	E

	F






	Price

	£20

	£18

	£16

	£14

	£12

	£10









Suppose the market price is at £14.




	
a  Which of the consumers would choose to buy the good?


	
b  What would be Consumer A’s consumer surplus at this price?


	
c  What would be the total consumer surplus enjoyed by the consumers purchasing the good?


	
d  What would be the total consumer surplus if the price were to increase to £16?
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Producer surplus


Parallel to the notion of consumer surplus is the concept of producer surplus. Think about the nature of the supply curve: it reveals how much output firms are prepared to supply at any given price in a competitive market. Figure 4.11 depicts a supply curve. Assume the price is at P* and that all units are sold at that price. P* represents the value to firms of the marginal unit sold. In other words, if the price had been set slightly below P*, the last unit would not have been supplied, as firms would not have found this profitable.
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Key term


producer surplus the difference between the price received by firms for a good or service and the price at which they would have been prepared to supply that good or service
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Figure 4.11 A supply curve








Notice that the threshold at which a firm will decide it is not profitable to supply is the point at which the price received by the firm reaches the cost to the firm of producing the last unit of the good. The supply curve shows that, in the range of prices between point C and P*, firms would have been willing to supply positive amounts of this good or service. So at P*, they would gain a surplus value on all units of the good supplied below Q*. The total area is shown in Figure 4.12 — it is the area above the supply curve and below P*, shown as the shaded triangle P*BC.
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Figure 4.12 Producer surplus








One way of defining this producer surplus is as the surplus earned by firms over and above the minimum that would have kept them in the market. It is a key objective of firms.


Consumer and producer surplus can be shown on the same diagram. Figure 4.13 shows a market in equilibrium, with price at P* and quantity traded at Q*. The shaded area ABP* shows consumer surplus, while the area P*BC represents producer surplus.






[image: ]


Test yourself 4.6


Explain why producer surplus may be considered as a key objective of firms.
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A change in the conditions of demand or supply will affect the size of consumer and producer surplus. Figure 4.14 illustrates the effect of an increase in demand, in other words, where consumers are now willing to buy more of a good at any given price. In Figure 4.14, the initial demand curve is given by D0 and the supply curve is S. The initial equilibrium price is P0 and the quantity traded is Q0. In this situation, consumer surplus is the area ABP0 and producer surplus is P0BC. If demand shifts to D1, there is an extension in supply, and equilibrium price increases to P1 with the quantity increasing to Q1. Consumer surplus is now XYP1 and producer surplus is P1YC. In other words, both consumers and producers receive a higher surplus, which makes sense because consumers now value the good more highly.
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Figure 4.13 Consumer and producer surplus
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Figure 4.14 Consumer and producer surplus with an increase in demand
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Study tip


The concepts of consumer and producer surplus will be important later on in several different contexts, so be sure that you understand and remember them.
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Exercise 4.4


Figure 4.15 shows the effect on consumer and producer surplus before and after a decrease in supply, caused by an increase in production costs.




	
a  Identify the areas representing consumer surplus before and after the change.


	
b  Identify the areas representing producer surplus before and after the change.


	
c  Comment on the relative size of the surpluses before and after the change.
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Figure 4.15 Consumer and producer surplus with a decrease in supply
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Extension material: consumer and producer surplus and welfare


The notions of producer and consumer surplus are important when we come to think about the total welfare that economic agents receive from their economic activities. For consumers, the consumer surplus represents the surplus that they receive over and above what they are willing to pay for a good or service. For firms, the producer surplus represents the surplus that they receive over and above their costs of production. There is thus a sense in which we interpret the sum of these two surpluses as being the net welfare that society as a whole gains from the production and consumption of this good or service. It could be argued that efficient resource allocation is achieved when this is maximised.
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Summary: consumer and producer surplus




	
•  The demand curve shows the valuation that consumers place on a good, reflecting the satisfaction they gain from consuming it.


	
•  Consumer surplus represents the benefit that consumers gain from consuming a product over and above the price they pay for that product.


	
•  Producer surplus represents the benefit gained by firms over and above the price at which they would have been prepared to supply a product.
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